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Question Id : 87827030789 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage (%) distribution of six different types of expenditure,
namely, Salary (), Infrastructure (I), Transportation (T), Bonus (BO), Raw Material (R) and
Miscellaneous (M) of three companies A, B and C during a given year. Total expenditure of

company A, B and C are 3 80 lakh, T 90 lakh and ¥ 75 lakh, respectively. Based on the data in the
table, answer the questions that follow :

Company-wise percentage (%) distribution of Expenditure

Type of Expenditure
—
Gt l 5 I i BO | R M
A 4% | 18% | 15% | 10% | 14% | 19%
B 27% | 15% | 14% | 25% | 9% | 10%
0 2% | 24% | 16% | 19% | 8% | 12%




Sub questions

Question Number : 1 Question Id : 87827030790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between the expenditure of Company-A on salary and the expenditure of
Company-B on Raw Material ?

(1) 9.6 lakh

2) T1L1 lakh
) ¥124 lakh
)

3
4) T 134 lakh

(
(
(
Options :

878270121241. 1
878270121242. 2
878270121243.3

878270121244. 4

Question Number : 2 Question Id : 87827030791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The expenditure of Company C on salary is approximately % of the expenditure of
Company A on Transportation.

(1) 76.2%

(2) 96%

(3) 125%

(4) 131%

Options:

878270121245. 1
878270121246. 2
878270121247. 3
878270121248. 4



Question Number : 3 Question Id : 87827030792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1is the average expﬂncliture of the three companies on Infrastructure ?
(1) 122 lakh

(2) T 15.3 lakh

(3) T 164 lakh

(4) T 175 lakh

Options :

878270121249. 1

878270121250. 2

878270121251. 3

878270121252. 4

Question Number : 4 Question Id : 87827030793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the expenditute of Company A on Infrastructure to the expenditure of
Company B on Transportation ?
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Options :

878270121253. 1
878270121254. 2
878270121255. 3

878270121256. 4



Question Number : 5 Question Id : 87827030794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The ex pendilure of Companv Con Infrastructure 1s
of Company A on Bonus.

% more or less than the expundilure

(1) 80
(2) 100
(3) 125
(4) 150
Options :

878270121257. 1
878270121258. 2
878270121259. 3

878270121260. 4

Question Id : 87827030789 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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A W% | 18% | 15% | 10% | 1% | 19%
B 7% | 15% | % | 5% | 9% | 10%
C 0% | 4% | 16% | 19% | 8% | 12%

Sub questions

Question Number : 1 Question Id : 87827030790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FIH-A F A7 T G AR FUA-B % F= HIel W A & 9rg T S €2

(1) 9.6 @E &R

2) 111 7@E TH

(3) 124 7@ T

(4) 134 7@ T
Options :

878270121241.1
878270121242. 2
878270121243. 3

878270121244. 4

Question Number : 2 Question Id : 87827030791 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

UAI-C I ot T FY HUA-A F GEed T e %%
(1) 76.2%
(2) 96%
(3) 125%
4) 131%
Options :

878270121245. 1
878270121246. 2
878270121247. 3

878270121248. 4

Question Number : 3 Question Id : 87827030792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=1 safTal 1 e 9 SiHd =@ faaa € 2

(1) 122 /@ ¥9

(2) 15.3 @R T

(3) 16.4 @ T9

(4) 175 @E ¥
Options :

878270121249. 1
878270121250. 2
878270121251.3

878270121252. 4

Question Number : 4 Question Id : 87827030793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FOA Ak STIGTET W SE 3R FA B & ufEed W S &1 S foha § 7

(1) 5:4
2) 6:5
3) 7:6
4 8:7

Options :

878270121253. 1
878270121254. 2
878270121255. 3
878270121256. 4

Question Number : 5 Question Id : 87827030794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
HA C ] ST T FA A F G T AT § % 1feeh 71 F9 ¢ 7
(1) 80
(2
(3) 125
(4)
Options:
878270121257. 1
878270121258. 2
878270121259. 3

878270121260. 4

Sub-Section Number : 2
Sub-Section Id : 8782701318
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 6 Question Id : 87827030795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Swayamprabha courses are broadcasted on TV.
Statement (II) : Moocs are only available in English.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement Il are incorrect

4)  Statement I 1s mcorrect but Statement Il is correct

2

(3) Statement I is correct but Statement II is incorrect
g

Options :

878270121261. 1

878270121262. 2

878270121263. 3

878270121264. 4

Question Number : 6 Question Id : 87827030795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270121261. 1
878270121262. 2
878270121263. 3

878270121264. 4

Question Number : 7 Question Id : 87827030796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
(Types of Evaluation) (Their Functions)
(A) Placement Evaluation () To monitor the learning progress of students during the

course of instructions

(B) Formative Evaluation (I)  To know the underlying cause of weaknesses in students’
learning

(C) Summative Evaluation ~ (II) To know entry behaviour

(D) Diagnostic Evaluation (IV) To certify the learner at the end of a course or an academic
year or programme

Choose the correct answer from the options given below :

(1) (A, B)-(H), 1), D-1V)

(@) (AR, (B}(I), (CH(Im), (D)-(IV)
() (AHLV), (BI1), (CH{I), (DA
(4) (AR, (BH1), (CH(1V), (DK()



Options :

878270121265. 1
878270121266. 2
878270121267.3

878270121268. 4

Question Number : 7 Question Id : 87827030796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (AHI), (B}, (C-(0), (DHIV)
(@) (AHI), (B)-(I), (CHII), (D)-IV)
() (AHIV), (B){L), (CHIL), (DHII)
(4)  (A){I), (B)-(0), (C-(IV), (D}
Options:

878270121265. 1
878270121266. 2
878270121267. 3

878270121268. 4

Question Number : 8 Question Id : 87827030797 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Research suggests that a majority of students cheat at some points in their academic career, Which
one of the following is not a recommendation to reduce cheating in the classroom ?

(I) Encourage collaboration with peers on assignments to provide necessary support and decrease
anxiety.

(2) Reduce the focus on grades, and provide the material for students with which they must be
familiar.

(3) Clear guidelines on what constitutes cheating accompanied by consequences that, when
imposed, will deter other students due to their severity.

(4)  Ensure students are well prepared for assignments and tests.
Options :

878270121269. 1

878270121270. 2

878270121271. 3

878270121272. 4

Question Number : 8 Question Id : 87827030797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270121269. 1

878270121270. 2



878270121271.3
878270121272. 4

Question Number : 9 Question Id : 87827030798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement (I) :  Adolescents tend to be highly seli-aware and have a clear sense of their identity.

Statement (II) : Adolescents tend to develop ability to see relationships and to solve problems of
increasing complexity and difficulty.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect
) Statement I is correct but Statement Il is incorrect

(
(3
(4)  Statement I is incorrect but Statement I is correct
Options :

878270121273.1

878270121274. 2

878270121275. 3

878270121276. 4

Question Number : 9 Question Id : 87827030798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270121273. 1

878270121274. 2

878270121275. 3

878270121276. 4

Question Number : 10 Question Id : 87827030799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is a basic requirement for effective teaching ?
(1) Ignoring individual differences among students
(2) Adequate resources and technology

(3) Use of traditional teaching methods

(4) Rigid adherence to curriculum guidelines
Options :

878270121277. 1

878270121278. 2

878270121279. 3

878270121280. 4

Question Number : 10 Question Id : 87827030799 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270121277.1
878270121278. 2
878270121279.3

878270121280. 4

Question Number : 11 Question Id : 87827030800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If you want to understand the theoretical reasons that led researchers to conduct a study, you
would read which section of their article ?

(1) Abstract

(2) Introduction

(3) Discussion

(4)  Methodology

Options:

878270121281. 1

878270121282. 2

878270121283. 3

878270121284. 4

Question Number : 11 Question Id : 87827030800 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270121281. 1
878270121282. 2
878270121283. 3

878270121284. 4

Question Number : 12 Question Id : 87827030801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The tendency of researchers to subtly and inadvertently affect the behaviours of participants in a
study, obscuring the true effect of the independent variable, refers to :
(1) Hawthorne Effect

(2)  Biosocial Effect
(3)  Experimental Bias
(4) Participant Bias

Options:

878270121285. 1
878270121286. 2
878270121287.3

878270121288. 4



Question Number : 12 Question Id : 87827030801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270121285. 1
878270121286. 2
878270121287.3

878270121288. 4

Question Number : 13 Question Id : 87827030802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A research design in which either the investigator or the participant is not aware of the treatment
a parﬁcipanl 15 1'eceivmg, refers to :

(I) Single Blind Study

(2)  Half Blind Study

(3) Double Blind Study

(4) Longitudinal Study

Options :

878270121289. 1

878270121290. 2

878270121291.3

878270121292. 4



Question Number : 13 Question Id : 87827030802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270121289. 1
878270121290. 2
878270121291. 3

878270121292. 4

Question Number : 14 Question Id : 87827030803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a positively skewed distribution, which among the following would be true ?
(A) Mean > Mode
B) Mode > Median
) Mean > Median
D) Mode > Mean
E) Median > Mean

Choose the correct answer from the Dptiuns given below :

(
(
(
(

(1) (B) and (D) Only
(2) (A)and (C) Only
(3) (A)and (B) Only
(4) (D) and (E) Only



Options :

878270121293. 1
878270121294. 2
878270121295. 3

878270121296. 4

Question Number : 14 Question Id : 87827030803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
eTeeh farom faavo o, ffafad § 9 sH-91 9€1 8 ?
(A) WA > Sgaish
(B) WETTH > HifEAHI
(C) A > Hifegh
(D) dgeish > HIEA
(E) Wfeeht > W&
= Teu 7T forredi § | W& AT 1 A Hifel:
(1) %A (B) 3R (D)

() FE (A) R (O)

(3) A (A) SR (B)

(4) = (D) ¥R (E)

Options:

878270121293. 1

878270121294. 2

878270121295. 3

878270121296. 4

Question Number : 15 Question Id : 87827030804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

A researcher computes sample correlation coefficients r;, 1, r; and 1, from four different samples
and obtains 0.97, 0.95, 0.10 and 0.03, respectively, as their p-values, The correlation coefficient
significant at 5% level is :

0

@ 1
B 1
(4) Iy
Options :

878270121297. 1
878270121298. 2
878270121299. 3

878270121300. 4

Question Number : 15 Question Id : 87827030804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270121297.1
878270121298. 2
878270121299. 3

878270121300. 4

Question Number : 16 Question Id : 87827030805 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When individuals post journal-like entries on the Internet, they are known as :
(1) Advisory Columns

(2) Net Opinions
(3) Weblogs

(4) Digital Stories
Options :

878270121301. 1
878270121302. 2
878270121303. 3

878270121304. 4

Question Number : 16 Question Id : 87827030805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270121301. 1
878270121302. 2
878270121303. 3

878270121304. 4

Question Number : 17 Question Id : 87827030806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

An implicit message within a message is technically referred to as:
(1) Hidden Message

(2) Intrinsic Message

(3) Non-expressive Message

(4) Sub-text

Options :

878270121305. 1

878270121306. 2

878270121307. 3

878270121308. 4

Question Number : 17 Question Id : 87827030806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Tt aw # erafifed Hew =1 aeial gfte @ Fe o1
(1) 3T (Y=91) Ha¥l

(2) SF<IYd H
(3) STAfYESTe Hewr
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Options :

878270121305. 1
878270121306. 2
878270121307. 3

878270121308. 4

Question Number : 18 Question Id : 87827030807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following constitute the selectivity process in mass communication ?
(A) Selective suppression

(B) Selective attention

(C) Selective perception

(D) Selective retention

(E) Selective ignorance

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

) () () and (D) Only

(3) (©), (D) and (E) Only

@) (A), (D) and (E) Only

Options:

878270121309. 1

878270121310. 2

878270121311.3

878270121312. 4

Question Number : 18 Question Id : 87827030807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270121309. 1
878270121310. 2
878270121311.3

878270121312. 4

Question Number : 19 Question Id : 87827030808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  Under the framework of communication, political socialisation is related to social
learning in terms of how power is acquired.

Statement (II) : Marginalisation is the basis of political socialisation.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2) Both Statement I and Statement II are incorrect

4

2
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:

878270121313. 1
878270121314.2
878270121315. 3

878270121316. 4

Question Number : 19 Question Id : 87827030808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 FH R E:

TR (1) TR F TG F ST T Qe T Wi o Hed § i afer ¥ gef
el

R (1) : SR TEAH TR 1 R & |

T Ho o e H, el fow T e H 4 W S 7

(1) R 13 e 1 3 9 &

() YR 1 3R R 11 G e §

(3) R 1T ¢, ©ife e 11 79

(4) IR A ¢, A B 1T ©

Options:

878270121313. 1
878270121314. 2
878270121315. 3

878270121316. 4

Question Number : 20 Question Id : 87827030809 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) :  Media audiences are increasingly active in their communication with each other.,

Statement (II) : Media audiences are also active in communication with creators of mass
communication contents.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4)  Statement I is incorrect but Statement II is correct
Options :
878270121317.1

878270121318. 2

:No



878270121319. 3
878270121320. 4

Question Number : 20 Question Id : 87827030809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 4 Fo e M g

T (1) :  SHEER I o ATk (AIATTO) T G o 19 S HU H S Hioh @ &
O (1) : TR WAW o SR THEAR o o Yok o W FYum o of 5o @ €
IR A % el 8, Al fou U fosed o § e S 9 A

oA | R R 1 A1 9 &

T 1 IR A 11 11 979 §

T | 9 8, T he 11 370 ©

e | 970 &, SR e 11 9 §

1
2
3

(
(
(
(4

)
)
)
)
Options :

878270121317. 1
878270121318. 2

878270121319. 3

878270121320. 4

Question Number : 21 Question Id : 87827030810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What number would replace question mark (?) in the series given below ?
31,37, 41, 43, 47, 53, ?, 61

(1) 58
(2) 57
(3) 59
@) 56



Options :

878270121321. 1
878270121322. 2
878270121323. 3
878270121324. 4

Question Number : 21 Question Id : 87827030810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= &1 T el W yeAarEss {0 (?) F E-9 g Fiaeenfud ol ?
31, 37, 41, 43, 47, 53, ?, 61

(1) 58
(2) 57
(3) 59
(4) 56

Options:

878270121321. 1
878270121322. 2
878270121323. 3

878270121324. 4

Question Number : 22 Question Id : 87827030811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A milkman has a mixture of milk in which the ratio of milk and water is 7 : 4. He sells 55 litres of
this mixture and then adds up 20 litres of pure water. Now the ratio of milkand wateris 7: 6. Find
the new quantity of this mixture,

(1) 70 litres

(2) 195 litres

(3) 130 litres

(4) 210 litres

=

Options:

878270121325. 1
878270121326. 2
878270121327.3
878270121328. 4

Question Number : 22 Question Id : 87827030811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T GYATe o T g o i & fore g o Rl o 9T 724 %1 o 3 fem @ 55 A g € o
3 from % 20 et g R foreien €1 o7 g g SR O A SR 726 2 9 €1 39 fem
A 7 T |
(1) 70T
(2) 19 @&
(3) 130 e
(4) 210 &=
Options :
878270121325. 1
878270121326. 2
878270121327.3
878270121328. 4

Question Number : 23 Question Id : 87827030812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A sum of money at simple rate of interest becomes Rs. 2016 in 4 years and Rs. 2286 in 9 years,
What i the principal amount ?

(1) 1800

Q) T 1700

(3) ¥ 1900

(4) T 1850
Options :
878270121329. 1
878270121330. 2
878270121331. 3

878270121332. 4

Question Number : 23 Question Id : 87827030812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T ST FT AT 6 W 490 W F, 2016 2 S ¢ S 97 6 % 2286 8 A & | AR A €7
(1) % 1800

) F 1700
3) % 190
) % 1850

|

(
(
(4
Options :

878270121329. 1
878270121330. 2
878270121331.3

878270121332. 4

Question Number : 24 Question Id : 87827030813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A salesman travels from Delhi to Ambala at 30 km/h and returns at 90 km/h. If the total time
taken is 8 hours, find the total distance covered by him.

(1) 480 km
(2) 240 km
(3) 360 km
(4) 280 km

=y

Options :

878270121333. 1
878270121334.2
878270121335. 3

878270121336. 4

Question Number : 24 Question Id : 87827030813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e feghert (FiA) 30 Tt ofe sie o) fe @ feeedt & omvaren ot o & € & 90 fored ofe e 4 fa
B Y S & A A F F a8 5 € @ S 5 @ F T F g T
(1) 480 foFmt
(2) 240 formt
(3) 360 foFmt
(4) 280 ferelt
Options :
878270121333. 1
878270121334. 2
878270121335. 3

878270121336. 4

Question Number : 25 Question Id : 87827030814 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :
(a) ‘tee see pee’ means “drink fruit juice’
(b)

(c) ‘lee ree mee’ means ‘he is intelligent’

‘see kee lee” means "juice is sweet’

Which word in this language means ‘sweet’ ?

(1) ‘pee
(2) ‘kee’
(3) ‘lee’
(4) ‘mee’

Options :

878270121337. 1
878270121338. 2
878270121339. 3

878270121340. 4

Question Number : 25 Question Id : 87827030814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7ad e 9 H

(@) ‘S H ' w Hd § EE Fe 5
(b) ‘Tt = oY Ty T Wi
(c) ‘oft & i’ o ared ® ‘€ T Sefersie’
=H 9 | TR 918 o HY ‘wEe’ § 7

1
(2)
(3)
(4)

Options:



878270121337. 1
878270121338. 2
878270121339. 3

878270121340. 4

Question Number : 26 Question Id : 87827030815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following argument :
“All Russians were revolutionists.

All Anarchists were revolutionists.

Therefore, all Anarchists were Russians.”

(A) Fallacy of four terms

(B) Fallacy of illicit process

(C) Fallacy of undistributed middle

(D) Fallacy of exclusive premises

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) Only

4) (C) and (D) Only

Options :
878270121341. 1
878270121342. 2

878270121343. 3
878270121344. 4

Question Number : 26 Question Id : 87827030815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



freAfafea o o fFan 7 qehem aareu |
“|uft w1 wifaRRl 9|
Tl SRS AArG! shifdehRl o |
29 foru g4ff srstehamEner w461 91"
(A) =R Y& I T
(B) =T Ufshan 1 dEhe
(C) wifeafa Aea o1 Toha
(D) SHad STUREE! Fl Tha
i< feu U foekedi § 9 W 39 1 999 HiTa;
(1) A (A) 3R (B)

(2) e (B) 3R ()
(3) e (Q)

(4) FaA (C) 3 (D)
Options:

878270121341. 1
878270121342. 2
878270121343. 3

878270121344. 4

Question Number : 27 Question Id : 87827030816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the light of concept of “Terms” which of the following is incorrect ?
(A) The set of attributes shared by all and only those objects to which a general term refers is
called intension.

(B) Every general term has both an intensional and extensional meaning,
(C) The extension of a term determines its intension.

(D) Terms may have different intensions but have the same extension.
Choose the correct answer from the options given below :

(I) (B) and (D) Only
(2) (A)and (B) Only
(3 (B) Only

() (C) Only
Options:
878270121345. 1
878270121346. 2
878270121347.3

878270121348. 4

Question Number : 27 Question Id : 87827030816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" ) R 3 el 3 Frefetan § 9 BT A §

(A) T TR Y § foes o0 o S AR e 3 e ) 9 e e o el e
& o T SR

(B) e WA G 3 TOMeee i s afee, ) ard 2 €|

() W A T 39 T F A g

(D) W1 % fort o0l 2 el € g oY TR 40 €

A1 fow o foedl o 4 WE S 91 7 o



Options :

878270121345. 1
878270121346. 2
878270121347.3
878270121348. 4

Question Number : 28 Question Id : 87827030817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ina square of opposition of propositions which of the [nllnwmg is correct ?

(1) It Ais given as false; O is undetermined
(2) IfEis given as false; [ is false
(3) If Lis given as false; A is false
(4) It Ois given as false; E is true

Options:

878270121349. 1
878270121350. 2
878270121351. 3

878270121352. 4

Question Number : 28 Question Id : 87827030817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

gfarfead < faue @ o o, ffofed § wH-91 98 872
(1) afg A =1 e FamE T 7 O A €

(2) dfeE 1 Ter =G T E; e €

(3) =g 13T TTeTa ST T A e €

(4) afeO 1 TTeTd FARI T E; E ORI B

Options :



878270121349. 1
878270121350. 2
878270121351. 3

878270121352. 4

Question Number : 29 Question Id : 87827030818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of Anumana (Inference), the presence of the middle term in the minor term is
called :

(1) Paramarsha

(2) Vyapti
(3) Paksadharmata
(4) Paksa
Options :

878270121353. 1
878270121354. 2
878270121355. 3

878270121356. 4

Question Number : 29 Question Id : 87827030818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

SFTAA (FTRE) % T | 701 9 H HeF U2 i Sufefd 1 Fel I ¢

(1) o
(2) =
(3)  TeTEH
(4) U

Options :



878270121353. 1
878270121354. 2
878270121355. 3

878270121356. 4

Question Number : 30 Question Id : 87827030819 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrect in the light of Inductive Argument ?
(A) If the premises are true then the conclusion is probably true.

(B)  The conclusion follows probably from the premises.

(C) Itis unlikely for the premises to be true and the conclusion false.

(D) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (D) Only
Options :

878270121357. 1
878270121358. 2
878270121359. 3

878270121360. 4

No

Question Number : 30 Question Id : 87827030819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



AT i & 2edish # fefafas § 9 98 98 2
(A) Afg SHR 919 Fel & af fepy Hyrega: 9el 2l @ |

(B) TA=hd Herfasr &9 | MR IRl 1 STTIEH Fd © |
(C) 3! T el § fof SR o et 81 i freed wrera 21
(D) =% 375y T fof |efi o 9/ 9@ @ iR Frend e 2 |
e fou T foeshedi § & W& SO A 997 Hifou;

(1) I (A) 3R (B)

(2) %9 (B) 3R (C)

(3) %9 (C) ¥R (D)

(4) %99 (D)

Options :

878270121357. 1

878270121358. 2

878270121359. 3

878270121360. 4

Question Number : 31 Question Id : 87827030820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the fn]lnwing pair of acronyms and its expansion are incorrectly matched ?

1) LAN - Local Area Network

(

(2) MAN - Metropolitan Area Network
(3) WAN - Wide Area Network

(4) VPN - Virtual Personal Network
Options:

878270121361. 1
878270121362. 2
878270121363. 3

878270121364. 4



Question Number : 31 Question Id : 87827030820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frafafad ® 9 PH-T1 wftal (I6e) iR 39 T 9 &l 9 & gHfea Tl ¢ 7

(1) LAN - dd U Teaw

() MAN - WZmifeed T 4eeh

(3) WAN - ase o ek

(4) VPN - Y3l THAA 2o
Options :

878270121361. 1
878270121362. 2
878270121363. 3

878270121364. 4

Question Number : 32 Question Id : 87827030821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Statement (1) : (499),, = (L11110011),
Statement (I : (1011101), = (%3),,

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are correct

2
(3
(

) Both Statement I and Statement II are incorrect
3) Statement | is correct but Statement I is incorrect
)

4) Statement I is incorrect but Statement II is correct
Options :

878270121365. 1

878270121366. 2

878270121367.3

878270121368. 4



Question Number : 32 Question Id : 87827030821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
FA (I): (499),, = (111110011),
FHYF (I1) : (1011101), = (93),,
IRIE FYA 6 e H, A o 7 fowedi # | w39 7297 Hifau;
(1) AR FBITNIT TAT
2) YT R HUA 11 I A T
(3) YT HA B, Al HAT I 6 B
(4) R IEA B, Wl AT A B

Options :

878270121365. 1
878270121366. 2
878270121367.3
878270121368. 4

Question Number : 33 Question Id : 87827030822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Statement (I) : 3D Printers are primarily used in CAD,
Statement (II) : OLEDs require some form of back-lighting so that the screen can be Lit up.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2)  Both Statement I and Statement II are incorrect
3) Statement I is correct but Statement II is incorrect
4)  Statement I is incorrect but Statement II is correct

(
(
(

Options:



878270121369. 1
878270121370. 2
878270121371.3

878270121372. 4

Question Number : 33 Question Id : 87827030822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T (1) 53 fied We: S ¥ swam e o 2

T (1) NS B F3 TR F1 TH-CEICN ] ST B0 ¢ e T ) JRIG Fo2 1
SR 9 & e ¥, e U T s § 9 e SR 9 Fi

(1) IR FAT I T &

() U1 SR R 11 S o R

(3) R 15 ¢, Cife e 11 e ©

(4) O] A &, Wil FO I HA &

Options :

878270121369. 1
878270121370. 2
878270121371.3

878270121372. 4

Question Number : 34 Question Id : 87827030823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements relevant to the trends in modern information technology is/are

correct ?

(A) In traditional computing, data is represented in binary digits while in quantum computing,
data is represented in quantum bits or qubits.

(B) A wearable device capable of activity tracking that measures data such as the number of
steps walked and heart rate is an example of WiMAX,

(C) A collection of nodes capable of environmental sensing, local computation, and
communication with its peers or with other high performance nodes is called a Geographic
[nformation System (GIS).

Choose the correct answer from the options given below :

(1) (A) Only

(2) (B) Only
(3) (A)and (€) Only
(4) (B)and (C) Only
Options :

878270121373. 1
878270121374. 2
878270121375. 3

878270121376. 4

Question Number : 34 Question Id : 87827030823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e e i o vt o iy o fomfeim o @ 99 WA e e R

(A) S Frgfem ¥ e aedt fefrem 2w o ¢ it Foen Ffen 6 SR e foeg
o ¥ e < €|

(B)  Fifefe o1 W1 A W e, 2191 H e <N W v 4fe (e W R O e 1 T
7 1 T A I S F A ¢, 98 AR (WIMAX) H T 3 & |

(C) I8 1§ S0 Ve Hole, Tlehet ALY S ST Gy A1 47 T UG el A1gd
Y FER T W W 1 €, S S SR e (o) e o6 g

Options :

878270121373. 1
878270121374. 2
878270121375. 3

878270121376. 4

Question Number : 35 Question Id : 87827030824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Cyber Attack) (Description)
(A) Spyware (I)  Sending an email to lure users to fake website to obtain their
personal detals
(B) Phishing (I)  Downloading of malicious code to redirect users to fake website
to obtain their personal details
(C) Ransomware (IT) Keylogger used to record key presses and sending them to third
party
(D) Pharming (IV) Holding hostage a user’s data, often for a release fee

Choose the correct answer from the options giuen below :

(1) (A, (BHI). (CHIV), (DKI)

@ (A, BH, (1Y), DHII)
B (AM1), (BH), (OHIV), (DK
() (M), (BHIY), (K1), (D)1

Options :

878270121377. 1
878270121378. 2
878270121379. 3

878270121380. 4

Question Number : 35 Question Id : 87827030824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el & eI 1 fier Fif;

Tl T
(TR ) (foamm)
(A) ETER () v (7o) #1 SR SFER T F S e
oIE T 2 SHT 0 6 fot et 5
(B) ferfeim () 759 1 AT TR TG F & U 3¢ Tl domEe W
TR A g T 3G § 961 T HE H SAAE F
(C) T (1) ‘=" S o e e o 3 v v o) S o ferw 3w foran
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(1) (AL, (B)-{1), (CHIV), DH)

) (AR, B, (©-IV), (D)

A, (BHI), (O-1V), (D)
{

2
(3
() (A, B)-1V), (CD), (DHI)

(
) (A)
) (A)
Options:
878270121377.1
878270121378. 2
878270121379. 3

878270121380. 4

Question Number : 36 Question Id : 87827030825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is an essential requirement for the formation of photochemical smog ?
(I) Water vapour

(2) Sunlight

(3) High temperature

(4)  Snow

Options :



878270121381. 1
878270121382. 2
878270121383. 3

878270121384. 4

Question Number : 36 Question Id : 87827030825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR T HW-hied & i &g frefafes § eF-ar smevas €2

(2) I YHW
(3) = d9YHHA
(4) T
Options :

878270121381. 1
878270121382. 2
878270121383. 3

878270121384. 4

Question Number : 37 Question Id : 87827030826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following elements is fissile ?
(1) Thorium - 232

(2) Plutonium - 239

(3) Uranium - 237

(4) Uranium - 238

Options :

878270121385. 1



878270121386. 2
878270121387. 3

878270121388. 4

Question Number : 37 Question Id : 87827030826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270121385. 1
878270121386. 2
878270121387.3
878270121388. 4

Question Number : 38 Question Id : 87827030827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sick Building Syndrome (SBS) is caused due to :
(1) Aging of the building

(2) Contaminated indoor air

(3)

(4) Presence of building in a landslide prone area

Contaminated water supply in the building

=

Options:
878270121389. 1
878270121390. 2



878270121391. 3
878270121392. 4

Question Number : 38 Question Id : 87827030827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T fafedn fagm (vastug.) foas wro g & ?
(1) 9& 1 S0/ &R0

(2) fo sftedl e

(3) wEA ¥ gfua sta @t eyfd

(4) EEST YA &7 | WA H el

Options :

878270121389. 1

878270121390. 2

878270121391. 3

878270121392. 4

Question Number : 39 Question Id : 87827030828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the correct increasing order of Global Warming Potential (GWP) of following gases ?
(A) Nitrous Oxide (N,O)

(B) Carbon dioxide (CO,)

(C) Methane (CH,)

(D) Chlorofluoro Carbon (CFC)

Choose the correct answer from the options given below :

() (@), @) © D)
2 (D)
() (

( (

2

Options:

878270121393. 1
878270121394. 2
878270121395. 3

878270121396. 4

Question Number : 39 Question Id : 87827030828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frmfetfed 7t i aftas @ veuma (i gseg 1) 1 Tet SRR F0 FA-T1E 7
(A) e SRR (N,0)
(B) I TEHAHES (CO,)
(C) A (CH,)
(D) SR e (CFC)
A fou U foshedl H | W& 9L 1 TG iU
(1) (&), 6), Q) D)

(2 (A) (©), (B) (D)
@) (B), (4), (C) (D)
4) () (O) (A) (D)
Options :

878270121393. 1



878270121394. 2
878270121395. 3

878270121396. 4

Question Number : 40 Question Id : 87827030829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the limit of water availability for a region to be classified as water scarce region ?

(1) Less than 2500 m?/ person/ year

(2) Less than 2000 m’/ person/year

(3) Less than 1500 m®/ person/year

(4) Less than 1000 m’/ person/year
Options:

878270121397. 1
878270121398. 2
878270121399. 3

878270121400. 4

Question Number : 40 Question Id : 87827030829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A~ & % 9§ afigha & § STl Suetear i i @ wd € 2
(1) 2500 He® yfd =Afea ufd a9 9 &H

(2) 2000 HreP wfaq =af gfq 3d | #H
(3) 1500 HreP Wi =afe ufd ad | #H
(4) 1000 He© yfd =Afed fd a9 ¥ A
Options:

878270121397. 1

878270121398. 2



878270121399. 3

878270121400. 4

Question Number : 41 Question Id : 87827030830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  According to NEP 2020, one of the verticals of Higher Education Commission of
India (HECI), General Education Council (GEC) will be responsible for
accreditation of Higher Education Institutions (HEIs)

Statement (II) : According to NEP 2020, through a suitable system of graded accreditation and
graded autonomy, and in a phased manner over a period of 15 years, all HEs in
India will aim to become independent self-governing institutions.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I are incorrect
(3)  Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270121401. 1

878270121402. 2

878270121403. 3

878270121404. 4

Question Number : 41 Question Id : 87827030830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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IR T & e 8, 7 feu m fomed ¥ 1w E e wi

(1) FFIIRFIR TA 2

(2) YR 1 3 R 11 G 5 &

(3) O ITA ¢, TR HOF 1 A €

(4) U1 A B, A FT T &

Options:

878270121401.1
878270121402. 2
878270121403. 3

878270121404. 4

Question Number : 42 Question Id : 87827030831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the preamble of the Indian Constitution which of the following value is not stated ?
(1)  Justice
(2) Equality
(3) Courage
(4) Liberty
Options :
878270121405. 1
878270121406. 2
878270121407. 3

878270121408. 4



Question Number : 42 Question Id : 87827030831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR T 1 yere § fefafad § #0-9 900 #1 I T R e ?

(1) =4
(2) HHMA
(3) HEH
(4) @I
Options :

878270121405. 1
878270121406. 2
878270121407. 3
878270121408. 4

Question Number : 43 Question Id : 87827030832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Government of India constituted a Uni\;ersil}F Education Commission in November-1948 under
the Chairmanshipof

(I) Dr. Lakshmanaswamy

2)  Shri Maulana Abul Kalam Azad
3)  Dr. Radhakrishnan
)

(
(@
(4)  Dr. Yash Pal

|
Options:

878270121409. 1
878270121410. 2
878270121411.3
878270121412. 4



Question Number : 43 Question Id : 87827030832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfefen 5 frme e o YRE SR 3 TaaT 1948 § fovafowr fen swm & e fam a7

(1) 3. A T

(2) 4 I S FA S
(3) . TIFIH

(&) 3. T

Options :

8782701214009. 1
878270121410. 2
878270121411.3

878270121412. 4

Question Number : 44 Question Id : 87827030833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 1I
(Educational Stages) (Description)
(A) Samavartan () Those who completed 48 years course or study of four
Vedas
(B) Vasu (I)  Those who completed 36 years course or study of any three
Vedas
(€) Rudra (Il) Those who completed 24 years course or study of any two
Vedas
(D) Aditya (IV) A convocation ceremony

Choose the correct answer from the options given below :
(1) (M, BHIV), (-1, (OHI

(2)  (AHI), (B0, (CHI), D)-(1V)
() (AHLV), (B, (CHI), D))
() (AHT), (BH), (O-1V), (D)
Options :

878270121413. 1
878270121414. 2
878270121415. 3

878270121416. 4

Question Number : 44 Question Id : 87827030833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 § Gelt-11 1 et 1
Tl T-II
( Vtfeger =reor ) ( ferarur )

(A) HHTRH (1) o= 48 991 1 TSRy 1 <R 36 A e o o

(B) = (1) T=H 36 a1 1 UIETHN A1 I A4 o) 1 AT U foa
) % (1) o= 24 31 o1 TISTRR A1 g <) 9G] 1 A T feR
(D) anfee (IV) SleTa JWRTE

A feu U forred W § WE I A A HifC;

(1) (A)(I), B)-(IV), (C)-(1), (D)-(LIT)

(2) (A, (B)-(I), (CHII), (D)-IV)

(8)  (ARIV), (B)-(IIT), (C){II), (D))

(4)  (A)I), (B, (C-(IV), (D)-(II)

Options :

878270121413. 1
878270121414. 2
878270121415. 3

878270121416. 4

Question Number : 45 Question Id : 87827030834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following was the moving force behind the enactment of the Indian Universities
Act in the beginning of 20t Century ?

(I) Lord Canning

(2) Lord Curzon
(3) Charles Wood
(4)  Lord Dalhousie

Options :
878270121417. 1
878270121418. 2

878270121419. 3



878270121420. 4

Question Number : 45 Question Id : 87827030834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

20 & YT o Sy § e fovafoerer afufm & sfvfmm & o fefafes 5 9 fagm ga a7
1) @ Hfm

Options :

878270121417.1
878270121418. 2
878270121419. 3

878270121420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701319
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827030835 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Feminism is a meta-ideology that has been receiving attention in many areas of social sciences
in recent decades. The starting point for introducing gender to International Relations is with
respect to debate about basic inequalities between males and females and the consequences of
such inequalities on World Politics. The noted works on global gender issues argue that compared
with men, women constitute the disadvantaged group. They own about 1 per cent of the world’s
property and less than 5 per cent head higher organizations and positions while they account for
60 per cent of all working hours but receive only 10 per cent of all income. Their condition is so
deplorable as the illiteracy rate is high among them; that is 60 percent of all illiterates are women
and 80 per cent of all refugees are women, This gender discrimination is apparent universally.

A gender-sensitive focus on the world politics seeks to bring such challenges into open. It
points out the working of international political and economic systems that tend to produce an
underprivileged position for women. Jacqui True pointed out that economic development policies
of structural adjustment adopted by the International Monetary Fund (IMF) and the World Bank
and changes in the international division of labour contribute to an increased ‘feminization of
poverty’. Low paid strenuous work in export processing zone, sex tourism and migrant domestic
labour are examples of how development in international economy engages in exploitation of
women. Different forms of gender inequalities and discrimination may be found in advanced
industrial societies even after many decades of high rates of participation of women in workfares.

Sub questions

Question Number : 46 Question Id : 87827030836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Women face gender inequalities and discrimination in :
(1) Developing Nations

(2) Developed Nations

(3) Globally

(4) Highly Industrialized Societies
Options :

878270121421. 1

878270121422. 2

878270121423. 3

878270121424. 4

Question Number : 47 Question Id : 87827030837 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why do women constitute the disadvantaged group ?
(A) Own more property than man

(B) Get lower wages than men

(C) Work longer hours for less wages

(D) Are less literate than men

(E) Have limited positions of power

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B) and (D) Only

(3) (B), (D) and (A) Only

4) (B), (C), (D) and (E) Only

Options :

878270121425. 1
878270121426. 2
878270121427.3

878270121428. 4

Question Number : 48 Question Id : 87827030838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Choose the statements that are correct.
20% of all refugees are men

B) Less than 5% women head higher organizations and position of power

(

(

(C) 60% of all illiterates are women

(D) Women account for 10% of all working hours
{

Men receive 90% of all income

Choose the correct answer from the options given below :
(1) (A)and (B) Only

( (C), (D) and (E) Only

(3) () and (C) Only

(4) (A), (B), (C) and (E) Only

Options:

878270121429. 1

878270121430. 2

878270121431.3

878270121432. 4

Question Number : 49 Question Id : 87827030839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Low paid strenuous work in export processing zone, sex tourism and migrant domestic labour”,
are examples of Exploil'ation of women in :

(I) International Economy
Economies of Industrialized Nations

2
(3
(

)
) Economies of Developing Nations
)

}

Domestic Economy

Options :

878270121433. 1
878270121434. 2
878270121435. 3

878270121436. 4



Question Number : 50 Question Id : 87827030840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The working of International political and economic systems tend to produce an
underprivileged position for women,

Statement (II) : Economic development policies adopted by the International Monitory Fund and
the World Bank contribute to an increased “feminization of poverty'.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct
5

o
k
(

4)  Statement I is incorrect but Statement Il is correct

Both Statement I and Statement Il are incorrect

)
) Statement I is correct but Statement II is incorrect

Options :

878270121437. 1
878270121438. 2
878270121439. 3

878270121440. 4

Question Id : 87827030835 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827030836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tfeenall =1 ST aaar iR SETa B\ A ISl ©

(1) foewrasia eo ®

(2) foerfaa <uii #

(3) ¢ favad

(4) AU SEnfTeRid gars o
Options :

878270121421.1
878270121422. 2

878270121423. 3



878270121424. 4

Question Number : 47 Question Id : 87827030837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
wfgerd sfed T9E 4 © 7
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Options :

878270121425. 1
878270121426. 2
878270121427.3
878270121428. 4

Question Number : 48 Question Id : 87827030838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) W (A), (B), (C) 3 (E)

Options :

878270121429. 1
878270121430. 2
878270121431. 3

878270121432. 4

Question Number : 49 Question Id : 87827030839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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(1) SR e
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Options :
878270121433. 1

878270121434. 2



878270121435. 3

878270121436. 4

Question Number : 50 Question Id : 87827030840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270121437. 1

878270121438. 2

878270121439. 3

878270121440. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

e

878270121441.1
878270121442. 2
878270121443. 3

878270121444. 4

Question Number : 51 Question Id : 87827030841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270121441. 1
878270121442. 2
878270121443. 3

878270121444. 4

Question Number : 52 Question Id : 87827030842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

THTERT SATE (CHTeh IR IuTehT STTEITE o &7
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4. g3 Frepear

Options :

878270121445. 1
878270121446. 2
878270121447.3

878270121448. 4

Question Number : 52 Question Id : 87827030842 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

THTERT SATE (CHTeh IR IuTehT STTEITE o &7
1. WTSTeRT ToARE SAerE
2. {THTeRT TATTHe fasiear
3. WTOTeRT AT YT=HTCH: TarsIoam
4. g3 Frepear

Options :

878270121445. 1
878270121446. 2
878270121447.3

878270121448. 4

Question Number : 53 Question Id : 87827030843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270121449. 1

878270121450. 2



878270121451. 3

878270121452. 4

Question Number : 53 Question Id : 87827030843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. SRR SATETHT HF el W
2. WHTISTeR SehTRiehT GIoet et wHT
4, % i T

Options :

878270121449. 1
878270121450. 2
878270121451.3

878270121452. 4
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Options :

878270121453. 1
878270121454. 2
878270121455. 3

878270121456. 4

Question Number : 54 Question Id : 87827030844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T IUCATE U3eT A [ — I FTFIHT TAH FH FA 8l

1. &t

2. 3T

3. WE’E‘

4. TU
Options:
878270121453. 1
878270121454, 2
878270121455. 3

878270121456. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“BTAT 5 TSR — AY ATHRIAT “BTATer F Fhah] IS &2

1. Al &k
2. Tue Fne
3. HSAaq HUE
4. 0T FHTH
Options:
878270121457. 1
878270121458. 2
878270121459. 3

878270121460. 4

Question Number : 55 Question Id : 87827030845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“BTATS & TSR — T ATHRAT “BTATr” ol FlTeheh! I &7

1. dl &1
2. frde #nek
3. HSlad H1h
4. R hlich

Options :

878270121457. 1
878270121458. 2
878270121459. 3

878270121460. 4

Question Number : 56 Question Id : 87827030846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

& gt faermureradt sfeae weat 9at Aifres a2

1. foserasget ==

2. TS JRANTHT ST&AT

3. Toweraeqest Taa= T

4. &< qi SHidar 7T | whiere

Options :

878270121461. 1
878270121462. 2
878270121463. 3

878270121464. 4

Question Number : 56 Question Id : 87827030846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

& oAt forerroarehadt ety weaT et Aifores IR ?

1. forserasgent ==

2. TS SARTHT I&AT

3. Towerasqent Taa= T

4. &< qi SHiaar 7T He et

Options :

878270121461. 1
878270121462. 2
878270121463. 3

878270121464. 4

Question Number : 57 Question Id : 87827030847 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
§ T T STSTTAT qofehl o o W &7

|, VT ATeeheh] ToqTT Wk ATewhae % Wi |

2. WTThT TIEAITREh! ToHT HUTTE & ST cih A1e oI |

3. WA ATCH AN TR 37 AT F WITGHT et TTeeheh GTTT 1971 |
4, W 3 T ATeeheh! TOEUT ST Ueh HTETE T 9741 |

Options :

878270121465. 1
878270121466. 2
878270121467.3

878270121468. 4

Question Number : 57 Question Id : 87827030847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
§ U EicieToTTaT qaeh! 3 F9 T 8

|, WY ATeeheh ToqTT Weehd ATeehaTe % v |

2. TR TR ToHT 9T & ST Toih T1ee oI |

3. WA ATCH AN e 37 AT WITGHT eha TTeeheh! GTaT 1971 |
4, W 3T T ATeeheh] TOUT ST Uk TG T 9741 |

Options:

878270121465. 1
878270121466. 2
878270121467. 3
878270121468. 4



Question Number : 58 Question Id : 87827030848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U] Teh TS HI-Eh| A= T 570 5 GUTRT ST T G HIGH!
T ETeTer ek JehTTeh! 7 |

- I TS kR ATeRT Il FElvell 3t Fereh ! HHe T 2

4, ITEATEE
Options :
878270121469. 1
878270121470. 2
878270121471.3

878270121472. 4

Question Number : 58 Question Id : 87827030848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



HHTIEHT eSSl AT HeR! TI=g T G0 I GHITH STl HTHT @ HI-HehT
T ETeTer Uk, TRt 570 |
- 7 ATES! SHeheheTeh! SCUTT WFaell S HCTeh! WA TG 7

4, IEATEE
Options:
878270121469. 1
878270121470. 2
878270121471.3

878270121472. 4

Question Number : 59 Question Id : 87827030849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TART HE Tl =T IR CTET &7

. TEeiterar

2. Tademsfierar

3. SfARrEdT

4. TATTAEAT
Options :
878270121473. 1
878270121474. 2
878270121475. 3

878270121476. 4



Question Number : 59 Question Id : 87827030849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TTRT W Tl =ATE ATFHTTR] T &7

. TE=eiietarn
2. Taaemefrerar
3. ATYHeRaEar
4. ST

Options :

878270121473. 1
878270121474.2
878270121475.3

878270121476. 4

Question Number : 60 Question Id : 87827030850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

™ i [
SIGASTTH SR T ek ATeeh qetehl & TSI gao?

. #ifRges wfee

2. e TEEa

3. R

4. HETGTHTE Alehehell

Options :

878270121477. 1
878270121478. 2
878270121479.3

878270121480. 4



Question Number : 60 Question Id : 87827030850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SIS AT T SA1eh ATk qetehl & JehTaT=Tid a6?

. HiRge Hee
2. wiide FEHd
3. eI

4. ¥ [a-iHcdh Q’ﬁﬂ’:ﬂhﬂl

Options :

878270121477. 1
878270121478. 2
878270121479. 3

878270121480. 4

Question Number : 61 Question Id : 87827030851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TARATITRT ATeehehT 3TN, S[forre, THeAT, U T I &7

1. TSFHAH
2. I= AR
3. W aTieh
4. T are

Options:

878270121481. 1
878270121482. 2

878270121483. 3



878270121484. 4

Question Number : 61 Question Id : 87827030851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TARATIITRT ATEehehT TR, S[forre, THHSAT, Fe8 T I &7

1. Tﬁw
2. =TT
3. WEIy qIeH
4. eI aeRT
Options :
878270121481. 1
878270121482. 2
878270121483. 3

878270121484. 4

Question Number : 62 Question Id : 87827030852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR BTeRTe ‘Tl - hiaqTes el ol e &7

1. gTeor STRTERT AT FETATE Hichal STErHT

2. THTSSTe T TTqHTeR TehTSTeRl e SHemT STHTehT TTUehT el

3. 31913 AT et T UT0aH ok U auufs

4, THTSSTE ST TITquTeeR erTaTTehT HEAad] HHaHT SETeaTeg T oielT
Options :
878270121485. 1

878270121486. 2



878270121487. 3
878270121488. 4

Question Number : 62 Question Id : 87827030852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR BTeRTe ‘Tl -3 HiaqTes el ol e &7

| 3eTUT STHTERT AT RISTE Pichal ST
2. THTSSTet T TTqHTe TeRTSTeR! H e SHemT TR IehT TTUeh! et
3. 31913 HT FreleT [T AU {6k U auuo
4. TTSSTa S TITqWTeR JeTaTehT HEAad HHaHT SETeaTeS TUehT oietT
Options :
878270121485. 1
878270121486. 2
878270121487. 3

878270121488. 4

Question Number : 63 Question Id : 87827030853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T Taehoda TRehl 9 FUIe oRETY TTgATeTeh H1ed faaigares = eo?

| T=geaaraTel graifehar

. TR AT STTETR T

3. TG T S[GTTL THUTA fertrer
4. TaTa T ST T

Options :

-2

878270121489. 1



878270121490. 2
878270121491. 3

878270121492. 4

Question Number : 63 Question Id : 87827030853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR TAheHT Teehl i FUIe! SRS TTGATCToRT e fRaaTes [=1ee?

|. Ta=geaaqrdTel SToTehaT

2. TIGUTT 3T STTEvTeh! qu-ad

3. TSI T ST TRyt fartrer
4. Fifcare T difgerams T

Options :

878270121489. 1
878270121490. 2
878270121491. 3

878270121492. 4

Question Number : 64 Question Id : 87827030854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 SH@IE T T SAFAEE G TG | el et a1 WG 1
e BTG @Y G

|, ® G SR
. 79 A
. TafemioreTet smrerrr

(B

=S |

Options:

878270121493. 1
878270121494. 2
878270121495. 3

878270121496. 4

Question Number : 64 Question Id : 87827030854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T STEAYTS W T SAaeEetTs TG TebTew | el aeleht A1 ¥
TG FHCHITGG @Y T

|, % G S
. T ST
. Tafvmforeret smemrmT

(R

a0

Options :
878270121493. 1

878270121494. 2



878270121495. 3

878270121496. 4

Question Number : 65 Question Id : 87827030855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YT TS Fid THIST GebT” —IT W13 FHHT &7

[ T

2. Toem

3. ThEieh T
4. HdH

Options :

878270121497. 1
878270121498. 2
878270121499. 3

878270121500. 4

Question Number : 65 Question Id : 87827030855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“FYTAATEA hid THTSH Teb” —IT WIS FHHh! &7

[. T

2. faem

3. Thelleh Tt
4. TaE

Options :

878270121497. 1



878270121498. 2
878270121499. 3

878270121500. 4

Question Number : 66 Question Id : 87827030856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I T STEA o JHSD?

|. TATSHHT J=ITeTd Ugh Teh & ehT STeTiuTes Waerarurr

2. UTHTIUTRATERT TATUS Ueh [oh Romeh! oileh fa4Td

3. SHGTHT SEH AT TG FUGER] faatur

4. IHHT T 3 WEd (s fafuféa srafeaa fowr

Options :

878270121501. 1
878270121502. 2
878270121503. 3

878270121504. 4

Question Number : 66 Question Id : 87827030856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
W T STEAA o THSD?

|, SR J=Iferd Ueh fohfameh! SATRTUTeh Mfarerauft

2. UTHTIUTRATETT MU Ueh foh IHeh! oileh faaTd

3. SfiaHT SR WG TGS FUEweh! (el

4. AIHT TEfoTd I TR S fatutya wrateog fawr

Options:




878270121501. 1
878270121502. 2
878270121503. 3

878270121504. 4

Question Number : 67 Question Id : 87827030857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

LY

T TG ] 74 2 T TR ST o )

3R

. YW

2. diie

3, o

4. 7%
Options :
878270121505. 1
878270121506. 2
878270121507. 3

878270121508. 4

Question Number : 67 Question Id : 87827030857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



LIRCY

TR T G ¥ 4 9 TR STV Gl T 8

L

1. YT

2. dve

3.

4. TR
Options:
878270121505. 1
878270121506. 2
878270121507. 3
878270121508. 4

Question Number : 68 Question Id : 87827030858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TGS 41 T =RTEEAT STEFE T 37eh] 9 v Tgs! o] Feve fewqutren T
T T 5 T T K T e Tt Wit ¥ Ao 1

T T AT TS T T FaIGT e of TeherTs ek Tl B
| T

. hTHT

3, e wofed

4, FTH ST AR

B

Options :

878270121509. 1
878270121510. 2
878270121511.3

878270121512. 4



Question Number : 68 Question Id : 87827030858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TTGHS U FTCITEHIEEHT SHIHE T4 37eh] e 57 Todfeht W feer fequfi 1o
T T 5 T AT W T o Fr=iraft wiver ¥ Ao 1

T AT AT T T T TG g od Tty Fgehl Tl B
. R

Il

3, Spefee WTgTe

4, T ITATHHT HTHTEH

B

Options :

878270121509. 1
878270121510. 2
878270121511.3
878270121512. 4

Question Number : 69 Question Id : 87827030859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et feeen forfree et uf amoe fue syaees fram)

— T AT T e TRTTeRTe] 3 fer et TRy TRy <HTeR! ST
AT B G Teh e ST TS SWehauT ¥t FermeeT

1. =TS AT

2. FIFFEG
3. YIS ST G

4, it e AT

Options:

878270121513. 1
878270121514. 2
878270121515. 3

878270121516. 4

Question Number : 69 Question Id : 87827030859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et feeen forfres et uf amoe fue syaees fram)

— T S I e TaTUaRTeT 3 T TaTeh] e W =Tk g
AT B! G Toh aHahT STT@ATATeHe SYeR AT eI B

1, =TS AT

2. FIFEG
3. YIS ST 9=

4, FeTTaqut e AT



Options :

878270121513. 1
878270121514. 2
878270121515. 3

878270121516. 4

Question Number : 70 Question Id : 87827030860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TFLATIHTE ISR QT =THT’ HeTHT HTaTSIahT JFATHT GRguah fehrd a1 giaaTet
FUTEH o1 TS T THh! 07

. TeRlTaTSTE e S T STaeeh! v
2. TR Tafc Tavien SGTehed

3. T A TG 38TET U AT

4, AT TR GATS- T Heoreh Fepor

Options:

878270121517. 1
878270121518. 2
878270121519. 3

878270121520. 4

Question Number : 70 Question Id : 87827030860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TFLATIHTE ISR QT =THT’ HeTHT HTaTSIahT JFATHT GRguah fehrd a1 giaaTet
FUTEH o1 TS T THh! 07

. TeRlTaTSTE e S T STaeeh! v
2. TR Tafc Tavien SGTehed

3. T A TG 38TET U AT

4, AT TR GATS- T Heoreh Fepor

Options:

878270121517. 1
878270121518. 2
878270121519. 3

878270121520. 4

Question Number : 71 Question Id : 87827030861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

|. T TGeHT TarSITet SR GOt WuT
2. THT WTASieT T E(@dTal [a=IT UhT37eh T @Y TE@TuT
3. HHe! JHTSIeRT =T T[eTes e THeht

4. T ST T HaeRT SATHRAT T T Urdehl faoTs T

Options :

878270121521. 1
878270121522. 2
878270121523. 3

878270121524. 4

Question Number : 71 Question Id : 87827030861 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

| T TGeHT forsITet SR GOt Wux
2. YA TIASier TE @dTaT (o= TR MT @Y TETT

3. T THTSTT %HT‘%HI%E ST THHT

4. THA ST T HiaenT SATERAT T T Grdehl faoTs T

Options :

878270121521. 1
878270121522. 2
878270121523. 3

878270121524. 4

Question Number : 72 Question Id : 87827030862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘Sfrarrers st wfeat T drerfdren gt forgare e Hife We et Hieh
3} T 7 ST STl &

|. FHEEG T

2. ToeATase FraTs
R

4, 9 ToTaTS

Options:

878270121525. 1
878270121526. 2

878270121527. 3



878270121528. 4

Question Number : 72 Question Id : 87827030862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“SArarter aferter, affedt T drerfaent gt forgare waes =fe ¥el IE Feh
7 oI 5 SATATHEA craehel 817

|. TR T

2. foefasrw Jrare

3. $AT I

4. FW To1aTs
Options :
878270121525. 1
878270121526. 2
878270121527. 3

878270121528. 4

Question Number : 73 Question Id : 87827030863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“ThFt Y TR, MTGEHT TSt et W1

ST B i G TGT TTRRT FATeT Q-1 T

G R ToTg S THAT o oY biaral T
ST A1 SHTeHT FOTTHTOT T T ] e T
TS TaetI=I SSes ‘ahfel TS -t SUTTer fae 3 Shiaar T o ool I < 817
. TP GgTeT
2. e T
3. Wi WE
4, TG S
Options :

878270121529. 1
878270121530. 2
878270121531. 3

878270121532. 4

Question Number : 73 Question Id : 87827030863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“ThFt Y TR, MTGEHT TSt et W1

ST B i G TGT TTRRT FATeT Q-1 T

G R ToTg S THAT o oY biaral T
ST A1 SHTeHT FOTTHTOT T T ] e T
TS TaetI=I SSes ‘ahfel TS -t SUTTer fae 3 Shiaar T o ool I < 817
. TP GgTeT
2. e T
3. Wi WE
4, TG S
Options :

878270121529. 1
878270121530. 2
878270121531. 3

878270121532. 4

Question Number : 74 Question Id : 87827030864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TISHTOTEHT Tl ore FTeft TTee * SFETTETET HS=I TH HZATHT T o 27

L. Tt et ferafgeret ot
2. TGl 3 e Feer
3. foet Tooew AifeEre ghem
4. To fewmer urs foogra wrysme o

Options :

878270121533. 1
878270121534. 2



878270121535. 3

878270121536. 4

Question Number : 74 Question Id : 87827030864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TIISHTOTEHT el ore FTeft e * SFETTRTET HS=I TH HZATHT T o 27

| T I8 foafeerer ot
2. Mt 3@ e wRier
3. foet Fooew Aifere ghem
4. Yo femmer urs foogra tryeme Taifiues

Options :

878270121533. 1
878270121534. 2
878270121535. 3

878270121536. 4

Question Number : 75 Question Id : 87827030865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

YATUE" ATEeheT aTet T TR et 3th o WiahT &)
| Ugfae
2.

- AR
. Wi

N R



Options :

878270121537. 1
878270121538. 2
878270121539. 3
878270121540. 4

Question Number : 75 Question Id : 87827030865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ATUE" ATEeheRT et U TR0 et Ith o HTahT &7

| Uglaa
2. T
3. W
4. Waar
Options:
878270121537. 1
878270121538. 2
878270121539. 3

878270121540. 4

Question Number : 76 Question Id : 87827030866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST STSATeTe! ‘THG-MeEUS!” oM FHHTs TUHTTT Gralell TS QT B
. T

. TS A
. o o
. TEEIE

(S ] p—

I L

Options:

878270121541. 1
878270121542. 2
878270121543. 3

878270121544. 4

Question Number : 76 Question Id : 87827030866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Sfhaer STSATCTe! ‘THE-HaEUS!” oM FHHeTs TUHTTA Graell TIee! foueT 5
1. Teiegeredt

. TGS A
. e o
. TEEIE

[

Fu 2

Options :

878270121541. 1
878270121542. 2
878270121543. 3

878270121544. 4

Question Number : 77 Question Id : 87827030867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Y TaeeIeh] HETIETeRT &l WA @SR T Hrgaidierur TRe=s?

|, uftfere
2. TR 9T
3. ATaH AT

4. HET HAT

Options :

878270121545. 1
878270121546. 2
878270121547. 3

878270121548. 4

Question Number : 77 Question Id : 87827030867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IV eIkl UGG & WA (s T Hgadieur TR

|, uffere
2. TR 9T
3. AT A

4. L 9T
Options :

878270121545. 1
878270121546. 2
878270121547. 3

878270121548. 4

Question Number : 78 Question Id : 87827030868 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR TTHTIHE STFTHATCHE TaTe & 7

. T FaegeaehT STTETTAT ST TR 1T
2. - fawret e freprey

3. AT T wewTord formeres srgweem T
4. gt fasdwurEmT 5 TTEehedT ST T

Options :

878270121549. 1
878270121550. 2
878270121551. 3

878270121552. 4

Question Number : 78 Question Id : 87827030868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TAHT TTheaH e STRTHATR TaTe & 817

. T Fogeaeht STTETCAT STl TR 1T
2. 3T e fowarert e fepreg

3. AT Tt wewTord formerams srgweem T
4. grsfTent T uuETT ot TeFehed T ST T4

Options:

878270121549. 1
878270121550. 2
878270121551. 3
878270121552. 4



Question Number : 79 Question Id : 87827030869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T2 ATIHIE SIS SreaeT oIS JUTelT WTHTHT TeRITSTd Tieett WragaTal T
HTTFTTeRT &7 3T & % &7

| T TEA TRT GFeRT AT qoT BT T A1 &
. T T SR &0 {o o1y T aTaTeruiia ST T S
3. T AT STARqer T AR 3ATd HieTey
4, THTISTS TTCTETeRT ST AT AT T MU 37 FTHGT

Options :

[ S

878270121553. 1
878270121554. 2
878270121555. 3

878270121556. 4

Question Number : 79 Question Id : 87827030869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T2 ATIHIE SISTTR! TeEdaT oS UTeHT HTHTHT TeRTTSTd TTeelt WragaTal T
HTTFTTeRT &7 ST & % &7

| T TEA TRT TFeRT AT q9T SR T A2 5]
. T AT SR &0 (91 9T aTaTeruiT ST T ST
3. UTHHT A STARqer T ARSI 3 HieTey
4, QTS TR SUAT TT A AT WUHT 3 FHG

Options :

(]

878270121553. 1



878270121554. 2
878270121555. 3

878270121556. 4

Question Number : 80 Question Id : 87827030870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST T AT Y- BT BT Tl THETCt erehT Heal Tf AqTei! =fet epreeT
TTHT T el 97

1. Jmafia T
2. TS

3. dfeTe

4, ™
Options :
878270121557. 1
878270121558. 2
878270121559. 3
878270121560. 4

Question Number : 80 Question Id : 87827030870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST T ST Y- TR BT YTl TRETet ereht Heal T AqTeit =Fet <preeT
TTHT Tl iRl 97

L. e T
2. THIYUS

3. diam

4 T
Options:
878270121557. 1
878270121558. 2
878270121559. 3

878270121560. 4

Question Number : 81 Question Id : 87827030871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR WA Tl T3 STTTATCH e STl TG lehT ST THUShT HTe Weheis ?

I, ToIh! T wuTeR TRT TR HIRIATehT ST foT]
3. S qEATEHT AT TR = Y forrehr Fepsiymror 71
4. TTeeUaTe Ve e STieh! THeaTgeR T ks e T

Options :

2

878270121561. 1
878270121562. 2
878270121563. 3
878270121564. 4

Question Number : 81 Question Id : 87827030871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR W T T2 ST e I TG lehT ST TTHUSHT HTe Hehes ?

I, ToIh! T wuTeR TRT TR HIRIATehT ST foT]
3. S qEATEHT AT TR = Y forrehr Fepsiymror 71
4. TTeeUaTe Ve e STieh! THeaTgeR T ks e T

Options :

2

878270121561. 1
878270121562. 2
878270121563. 3

878270121564. 4

Question Number : 82 Question Id : 87827030872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Y qT TRV WTTETE EMT THehT SIS S TehTeh! STATTEHIS, W)

1. ATHAE
2. =TT
3. a9
4. fowrras

Options :

878270121565. 1
878270121566. 2
878270121567. 3

878270121568. 4

Question Number : 82 Question Id : 87827030872 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Y2 7 YRR WRTATE YT THERT SIS T TehTeh! STATTHT WD

|, ATHIE
2. =TT
3. YduTk
4. Towrras

Options :

878270121565. 1
878270121566. 2
878270121567. 3

878270121568. 4

Question Number : 83 Question Id : 87827030873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“EIAN €a: — TH SATTSTTHT HET FHIATHS €A HA-D?

1. 3788 T ST AT THIA & H1eq

2. Tiplt aTTg e tfverss T W

3. SATGHIGeR! QI ST ITHTIHT e
4. IoRIHYU AT farwmaet I e

Options:

878270121569. 1
878270121570. 2
878270121571. 3

878270121572. 4



Question Number : 83 Question Id : 87827030873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“CIA €a: — T SATTSTTHT HET FHIATTS Ed AT D7

763 T 3T el AT THTLT & HTed

. Tt a1 e ardes stfvess T @

3. SATGHIGeR! QI ST ITHTIHT e
4. IoRIHYU AT farwmaet I e

Options :

(g —

878270121569. 1
878270121570. 2
878270121571. 3

878270121572. 4

Question Number : 84 Question Id : 87827030874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T FreTT, 2 38 e e oere T BT 3 AT Wiceden (e &1 4o
— ST G A HEeH! HIHerTeT ST Gediet creeh] 39 AT Jfeetia
NG TF G

I T3l

2, e when
3. T T SfveaTh
4, Fe TS
Options :

878270121573. 1



878270121574. 2
878270121575. 3

878270121576. 4

Question Number : 84 Question Id : 87827030874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e, 1 3§ el TG FaTet T 1T+ Tl W] [ &7 Aol
— ST T FGTEeh T oA FeaTet ereleh! 2 T 3ot
NBTEFFE

I, T

2. fearT wfen
3. fom T aThiate
4, FaTSEd

Options :

878270121573. 1
878270121574. 2
878270121575. 3

878270121576. 4

Question Number : 85 Question Id : 87827030875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG FRTCAHT T RV T SATHE TRt &5 T el s
T FH S T

| ¥ U ey
dmsiome
3. T IS
4, g gEeA

Options:

]

878270121577. 1
878270121578. 2
878270121579. 3

878270121580. 4

Question Number : 85 Question Id : 87827030875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG FRTCAHT T RSt SATHHEE TeTeR Tt &5 TeTat el o]
3 R G T

| ¥ U ey
dmsiome
3. W AAeS
4, g 35S

Options :

]

878270121577. 1
878270121578. 2
878270121579. 3

878270121580. 4



Question Number : 86 Question Id : 87827030876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1. T Hiear
IS i

3. 8 *FThehl U
4. JEET TEHT A & i@t

[

Options :

878270121581. 1
878270121582. 2
878270121583. 3
878270121584. 4

Question Number : 86 Question Id : 87827030876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1. 3§ T Hiar
Bl Haar

3. g iehehl U
4. EET AT Y & Hidar

2

Options:
878270121581. 1

878270121582. 2



878270121583. 3
878270121584. 4

Question Number : 87 Question Id : 87827030877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FHTA=Th dT-T 98T dofeh §4 % T ad JorT f9m?

1. TSk hiddl STl
2. T SATae
3. AT

4. TR SHTA

Options :

878270121585. 1
878270121586. 2
878270121587.3

878270121588. 4

Question Number : 87 Question Id : 87827030877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FHTCI=Ieh qTT A1 GoTehl HE &l STTaleli o Hor (20?

1. TG I ShTI=

2. U TG

3. saE

4. TEThd SHTT
Options :

878270121585. 1



878270121586. 2
878270121587. 3

878270121588. 4

Question Number : 88 Question Id : 87827030878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R gfemre T offed AT o et o7

| 3Tee GeaTeTE=a! ST &1 ¥ ‘SHITGHT TaehT qaareean! TN TS HeTehed Bl

2. el TgImTa ai AT TR aUHT e © W §Tere T6eHT feprad auiean
H5T Bl

3. e’ FeeRT 2o R T FeTae Araee 3 ¥ “STGHr 2o I ekt
Thfchel T3 AT e S TGHee (AU iei B

4, “Ffewre SO TG 41T TTACHT Al AU [ePIOT e © W e
mwa‘\rm?ﬁmmmw

Options :

878270121589. 1
878270121590. 2
878270121591. 3

878270121592. 4

Question Number : 88 Question Id : 87827030878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



B Gfome T e a7 & e g9

. “SAfeH TgIeE ot AgTeEeH TR qUAH s B W §ToTE Tt e au
7 0l

. orre Tt T WU TG e Weaery ¥ ‘GG e 7 W
Tl T3] AT e ST S Geeh! (o a1 B

4, oS O TG 41T TTACH] T hl AU [ePIOT el © W e
o el e AT ST AT B

Options:

[ ] p—

Ll

878270121589. 1
878270121590. 2
878270121591. 3

878270121592. 4

Question Number : 89 Question Id : 87827030879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

oy ft Feter lTaTe SRt ey SATeRUl T4 HIgeharqul SefTuee: A &1 Wt

. o U frre
2. U 3T AT

3. A 3eme
4, fora g

Options :

878270121593. 1
878270121594. 2

878270121595. 3



878270121596. 4

Question Number : 89 Question Id : 87827030879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt ff FaRT HITATeR ST AHTET ST T W JeE A & et

. om U gy
). TR AT

3, dgsfeme
4. Tra g

Options :

878270121593. 1
878270121594. 2
878270121595. 3

878270121596. 4

Question Number : 90 Question Id : 87827030880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR T2 ST S AT ety e S o oy

1. 3 fq areae

2. qd ATt

3. FEH ML

4, AR
Options :

878270121597. 1



878270121598. 2
878270121599. 3

878270121600. 4

Question Number : 90 Question Id : 87827030880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR T2 SO S AR ey et S o ey

1. 3 fq areae

2. qd ATt

3. FEH ML

4, AR
Options :
878270121597. 1
878270121598. 2
878270121599. 3

878270121600. 4

Question Number : 91 Question Id : 87827030881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



E. Hara

c

1. A, BaCHE
2. A ESANDUH
3. B,C3AMEAA
4. B 3AME A=

Options:

878270121601. 1

878270121602. 2

878270121603. 3

878270121604. 4

Question Number : 91 Question Id : 87827030881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



E. Hara

c

1. A, BaCHE
2. A ESANDUH
3. B,C3AMEAA
4. B 3AME A=

Options:

878270121601. 1

878270121602. 2

878270121603. 3

878270121604. 4

Question Number : 92 Question Id : 87827030882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fore WTTcehT ST TS TTaaTa T @IS 37 STaERUTES $ & 517

A. FHTISY e

B. qEMTcH Hieed

C. FHeTHH e

D. I-3YTeTaTe Hieed
E. ST{aTe Wifted

ffeTiad faeeuare wet 3wt o1 a4|

. A, B, AMDAA
2. B,CaNDAR
3. B,C AME AW
4. B#&AMD A

Options:

878270121605. 1
878270121606. 2
878270121607. 3
878270121608. 4

Question Number : 92 Question Id : 87827030882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fore WTTcehT ST TS TTaaTa T @IS 37 STaERUTES $ & 517

A. FHTISY e

B. qEMTcH Hieed

C. FHeTHH e

D. I-3YTeTaTe Hieed
E. ST{aTe Wifted

ffeTiad faeeuare wet 3wt o1 a4|

. A, B, AMDAA
2. B,CaNDAR
3. B,C AME AW
4. B#&AMD A

Options:

878270121605. 1
878270121606. 2
878270121607. 3
878270121608. 4

Question Number : 93 Question Id : 87827030883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STGTTIE THeRT ST ATSTEACATS T [T RIGaT TSI T & Wk -

A. T T e AT Fadn

B. STGHTH T SRgaUiAeR! il

C. ST TeeMT SHTREeHT T e hTed T e

D. MTaTHe ST SAThTBAHT STaeived e

E. STET-TeagmTan! aUiA, eTe HUeH TR ohraaT

REINEEICEILE A

. A,BTDHAM
ATD AR
DI EAA
B,CTEHA

-2

.

Options:

878270121609. 1
878270121610. 2
878270121611.3

878270121612. 4

Question Number : 93 Question Id : 87827030883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STGTTIE THeRT ST ATSTEACATS T [T RIGaT TSI T & Wk -

A. T T e AT Fadn

B. STGHTH T SRgaUiAeR! il

C. ST TeeMT SHTREeHT T e hTed T e

D. MTaTHe ST SAThTBAHT STaeived e

E. STET-TeagmTan! aUiA, eTe HUeH TR ohraaT

REINEEICEILE A

. A,BTDHAM
ATD AR
DI EAA
B,CTEHA

-2

.

Options:

878270121609. 1
878270121610. 2
878270121611.3

878270121612. 4

Question Number : 94 Question Id : 87827030884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HId WITHHeRT TS Frelwe] T HIHT FATEE F T §17

A. Ta=meRT gifeerar
B. I TeaehT W TATHT
C. T HTHTeRr et

D. hiddTcHehd

E. T SadawIdr faae

qoTehT fasheaaTe e 3T BT -

. CIDHM
A, CTETH
B,CI EAM
BTCHH

-J

e 1

Options:

878270121613. 1
878270121614. 2
878270121615. 3

878270121616. 4

Question Number : 94 Question Id : 87827030884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HId WITHHeRT TS Frelwe] T HIHT FATEE F T §17

A. Ta=meRT gifeerar
B. I TeaehT W TATHT
C. T HTHTeRr et

D. hiddTcHehd

E. T SadawIdr faae

qoTehT fasheaaTe e 3T BT -

. CIDHM
A, CTETH
B,CI EAM
BTCHH

-J

e 1

Options:

878270121613. 1
878270121614. 2
878270121615. 3

878270121616. 4

Question Number : 95 Question Id : 87827030885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TTH 1 1 o T B

A. T, Wl ¥ 779 % SevarT EeiTces et i o e 3 T ied

B. SR TTRIGHEEHT GH <ae G737 e S 4T O]

C. TTCH! TGS T FerTehTTh! T ST T SR £l

D. TG AN ST 57 T A 9iy gt i £l

E. TEHIEA! TRaTeR AT STTHe, JTATS 9 aT [9aTe A11G T SFaeem
]

oTeh fodhetaTe e 37 BIJery -

|. B,DIEWA
2, A BTETH
. B,CT DA
A CTDIH

E

I a

Options:

878270121617. 1
878270121618. 2
878270121619. 3
878270121620. 4

Question Number : 95 Question Id : 87827030885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TTH 1 1 o T B

A. T, Wl ¥ 779 % SevarT EeiTces et i o e 3 T ied

B. SR TTRIGHEEHT GH <ae G737 e S 4T O]

C. TTCH! TGS T FerTehTTh! T ST T SR £l

D. TG AN ST 57 T A 9iy gt i £l

E. TEHIEA! TRaTeR AT STTHe, JTATS 9 aT [9aTe A11G T SFaeem
]

oTeh fodhetaTe e 37 BIJery -

|. B,DIEWA
2, A BTETH
. B,CT DA
A CTDIH

E

I a

Options:

878270121617. 1
878270121618. 2
878270121619. 3
878270121620. 4

Question Number : 96 Question Id : 87827030886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=TT =TT TR0 TTHehT =er=es r=Iied Terd]

A. 3 feFex
B. T amgumsesa fasy
C. Tadr mgem
D. gATFA T
E. g
qtepT faepeam el Het 3T TRy -
. A,CTETH
2. A,DIETH
3. AT CHEA
4. BIDTA

Options:

878270121621. 1
878270121622. 2
878270121623. 3

878270121624. 4

Question Number : 96 Question Id : 87827030886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=TT =TT TR0 TTHehT =er=es r=Iied Terd]

A. 3 feFex
B. T amgumsesa fasy
C. Tadr mgem
D. gATFA T
E. g
qtepT faepeam el Het 3T TRy -
. A,CTETH
2. A,DIETH
3. AT CHEA
4. BIDTA

Options:

878270121621. 1
878270121622. 2
878270121623. 3

878270121624. 4

Question Number : 97 Question Id : 87827030887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e AT Wt PO el 3 9 e )

A. TETHT T drecehT T WY fr 21

B. T SRATCHeRT ST 7 e e i 3 ST 7 SATRIerers
e T T AT G e

C. ST STOTETRTAT, et 1 Tl JeTeaTace! AIwaanie earsee) ol

D. R SETTTeR AT FeTan Tcraets Wi, SHecriTane 77 TTaH T T
TR Tt T Sl T S B

E. TTEHTeIe TTaT SHedeaare T AaTaare JHTIad aiavae ¥t SHTeect fedrarest
SR TR ST U AR

o1 FahedaE e 3T BIFere-

. B,CTEWA
2. ATBHHA
3. B,DTEAH
4. CIDHA

Options:

878270121625. 1
878270121626. 2
878270121627. 3
878270121628. 4

Question Number : 97 Question Id : 87827030887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e AT Wt PO el 3 9 e )

A. TETHT T drecehT T WY fr 21

B. T SRATCHeRT ST 7 e e i 3 ST 7 SATRIerers
e T T AT G e

C. ST STOTETRTAT, et 1 Tl JeTeaTace! AIwaanie earsee) ol

D. R SETTTeR AT FeTan Tcraets Wi, SHecriTane 77 TTaH T T
TR Tt T Sl T S B

E. TTEHTeIe TTaT SHedeaare T AaTaare JHTIad aiavae ¥t SHTeect fedrarest
SR TR ST U AR

o1 FahedaE e 3T BIFere-

. B,CTEWA
2. ATBHHA
3. B,DTEAH
4. CIDHA

Options:

878270121625. 1
878270121626. 2
878270121627. 3
878270121628. 4

Question Number : 98 Question Id : 87827030888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et TRUeRT ST Tl WTHT STATTICH ST THT TaD?

qeTehT faeheaTe Hel I BTe |
1. AT C A

2. B3I DHA

3. CHAMEAH

4 AAT EAE
Options:
878270121629. 1
878270121630. 2
878270121631.3
878270121632. 4

Question Number : 98 Question Id : 87827030888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et TRUeRT ST Tl WTHT STATTICH ST THT TaD?

qeTehT faeheaTe Hel I BTe |
1. AT C A

2. B3I DHA

3. CHAMEAH

4 AAT EAE
Options:
878270121629. 1
878270121630. 2
878270121631.3
878270121632. 4

Question Number : 99 Question Id : 87827030889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TTEATERT STETCHT UTCAT WTHTRT AT i TR o)

. AT dTe

. HHTTIRTUIT R aTe
. GTH A
. T e

e ar=r

qAETE TeT Taehed BIried-

Mg QW >

. A,C,DTEHH

2. B,CTETH
3. A,B,DTEHMA
4. A,B,C TDHA

Options:

878270121633. 1
878270121634. 2
878270121635. 3
878270121636. 4

Question Number : 99 Question Id : 87827030889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TTEATERT STETCHT UTCAT WTHTRT AT i TR o)

. AT dTe

. HHTTIRTUIT R aTe
. GTH A
. T e

e ar=r

qAETE TeT Taehed BIried-

Mg QW >

. A,C,DTEHH

2. B,CTETH
3. A,B,DTEHMA
4. A,B,C TDHA

Options:

878270121633. 1
878270121634. 2
878270121635. 3
878270121636. 4

Question Number : 100 Question Id : 87827030890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST STUTET f e ST ST+ ToaTTeeh! SehTeT AT T 0eh He 71 1 17

A. T FH

B. o W

C. THTEHT g
D. fer 4

E. 7% 9

T e I DI

| AB,CTDAA
2. B,C,DTEAH
CABTC W
. C,D TEFm

e 2

Options:

878270121637. 1
878270121638. 2
878270121639. 3
878270121640. 4

Question Number : 100 Question Id : 87827030890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST STUTET f e ST ST+ ToaTTeeh! SehTeT AT T 0eh He 71 1 17

A. T FH

B. o W

C. THTEHT g
D. fer 4

E. 7% 9

T e I DI

| AB,CTDAA
2. B,C,DTEAH
CABTC W
. C,D TEFm

e 2

Options:

878270121637. 1
878270121638. 2
878270121639. 3
878270121640. 4

Question Number : 101 Question Id : 87827030891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



edcUlach Hﬂ:ﬂ‘llu\{ CRIFMCARNE ohl bl WWﬂ?

e faguert fashedere et ST o EN-

. A,C,DTEHH

2. B_DTERH
3. CTEHMA
4 BIDHMA

Options:

878270121641. 1
878270121642. 2
878270121643. 3
878270121644. 4

Question Number : 101 Question Id : 87827030891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



edcUlach Hﬂ:ﬂ‘llu\{ CRIFMCARNE ohl bl WWﬂ?

e faguert fashedere et ST o EN-

. A,C,DTEHH

2. B_DTERH
3. CTEHMA
4 BIDHMA

Options:

878270121641. 1
878270121642. 2
878270121643. 3
878270121644. 4

Question Number : 102 Question Id : 87827030892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



<t TR UehT FATHE F FF hY T B2

A. T AT af eTrmses fAfusTed afe-ae Jeifor St oy &l
B. THTE 2T9Teheh! UT=i aAfvore Tt foaftm siftgust o1

C. BT T 5% 317 < ATk 3g &)

D. G fAfumT ¥ o g1 aul 7, ¢ g W AT 3R T ===

E. @i fafrent saft et fafrare s an

TR foreheelTe el I DR 19-

1. B,cARDAR
2. B,CANEAH
3. A, DANEWH
4. A BAFCHF

Options:

878270121645. 1
878270121646. 2
878270121647.3

878270121648. 4

Question Number : 102 Question Id : 87827030892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



<t TR UehT FATHE F FF hY T B2

A. T AT af eTrmses fAfusTed afe-ae Jeifor St oy &l
B. THTE 2T9Teheh! UT=i aAfvore Tt foaftm siftgust o1

C. BT T 5% 317 < ATk 3g &)

D. G fAfumT ¥ o g1 aul 7, ¢ g W AT 3R T ===

E. @i fafrent saft et fafrare s an

TR foreheelTe el I DR 19-

1. B,cARDAR
2. B,CANEAH
3. A, DANEWH
4. A BAFCHF

Options:

878270121645. 1
878270121646. 2
878270121647.3

878270121648. 4

Question Number : 103 Question Id : 87827030893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R TTehalt qeteh] e & o el B

A. WETTEH U1kt T hIeeTeRT Qi rrame fareefr skt &)
B. IR WY (el TRTIE TTeheerrs SHaunied STehd HHeh! 5]
C. YT ST Tere® TR Trehail Siaush! &)

D. TTCHEEHT HalTeieh AN & TTehd HTTES A ForT]

T faehedaTe Hal o BIreIg-

1. A, BAR DA
2. BaAfCHA
3. BAND A
4. A B,ANEAHA

Options:

878270121649. 1
878270121650. 2
878270121651. 3

878270121652. 4

Question Number : 103 Question Id : 87827030893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R TTehalt qeteh] e & o el B

A. WETTEH U1kt T hIeeTeRT Qi rrame fareefr skt &)
B. IR WY (el TRTIE TTeheerrs SHaunied STehd HHeh! 5]
C. YT ST Tere® TR Trehail Siaush! &)

D. TTCHEEHT HalTeieh AN & TTehd HTTES A ForT]

T faehedaTe Hal o BIreIg-

1. A, BAR DA
2. BaAfCHA
3. BAND A
4. A B,ANEAHA

Options:

878270121649. 1
878270121650. 2
878270121651. 3

878270121652. 4

Question Number : 104 Question Id : 87827030894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TTAT THTHT U3 Heh TSR TefehT 7 A 9 Tel B2

A, TUTCHT T ToRaITAT % T TosTehen | ST WA 3TN T U0

5. UTEHT WA ToRATHT ST STqEEch! [7ehl 57 90

c. UTeHY TH TohaTeRT ToTer, ST dlTael STt 9T /1Al 3713 W]
. SUTCHT U foHATeRT HTCTAT 3T Wel 4T STHHTI a7 Fawd 50|
. T TTET ST ST TSeh TATHT 770 UFeg SATere )

. B,DAMEAA
2. C,DAFEAT
3. D,CAMEAH
4. A, CHAFTEAT

m

Options:

878270121653. 1
878270121654. 2
878270121655. 3

878270121656. 4

Question Number : 104 Question Id : 87827030894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TTAT THTHT U3 Heh TSR TefehT 7 A 9 Tel B2

A, TUTCHT T ToRaITAT % T TosTehen | ST WA 3TN T U0

5. UTEHT WA ToRATHT ST STqEEch! [7ehl 57 90

c. UTeHY TH TohaTeRT ToTer, ST dlTael STt 9T /1Al 3713 W]
. SUTCHT U foHATeRT HTCTAT 3T Wel 4T STHHTI a7 Fawd 50|
. T TTET ST ST TSeh TATHT 770 UFeg SATere )

. B,DAMEAA
2. C,DAFEAT
3. D,CAMEAH
4. A, CHAFTEAT

m

Options:

878270121653. 1
878270121654. 2
878270121655. 3

878270121656. 4

Question Number : 105 Question Id : 87827030895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T (STHR) TG G S, AT Aiieeaht TTuTe) faua a 7eed: ST o
T ¥ BT oY TRl 35 3 oA SRR e

A, ST TeTmTe ey W v 3

B. Wfere fawa 3 wteea

C. Sl T W T3

D, TR T fef ST 37 SYRATTe] AT SfTefept o0 T4 et
E. 30T 77 I £

fraferfe foererae T 31 = &)
|. B,CANEAA

2. A CHNETH

3. DANEmA

4, BAND AR
Options:
878270121657. 1
878270121658. 2
878270121659. 3

878270121660. 4

Question Number : 105 Question Id : 87827030895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T (STHR) TG G S, AT Aiieeaht TTuTe) faua a 7eed: ST o
T ¥ BT oY TRl 35 3 oA SRR e

A, ST TeTmTe ey W v 3

B. Wfere fawa 3 wteea

C. Sl T W T3

D, TR T fef ST 37 SYRATTe] AT SfTefept o0 T4 et
E. 30T 77 I £

fraferfe foererae T 31 = &)
|. B,CANEAA

2. A CHNETH

3. DANEmA

4, BAND AR
Options:
878270121657. 1
878270121658. 2
878270121659. 3

878270121660. 4

Question Number : 106 Question Id : 87827030896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T BT Wbl d
CERE Gl

e AT WSt @
AT I

- AT TS AT Tt SUEeh STeAh T ToTehT 3t &5t T T3 Wik
2 S

B. %

C. dn

D. =
E. dhvew

foheelTe Wa 3T O] &1

l. A, BN CHH
. B,DANEAH
3. A DUH

4, DM ETH

I~

Options:

878270121661. 1
878270121662. 2
878270121663. 3

878270121664. 4

Question Number : 106 Question Id : 87827030896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T BT Wbl d
CERE Gl

e AT WSt @
AT I

- AT TS AT Tt SUEeh STeAh T ToTehT 3t &5t T T3 Wik
2 S

B. %

C. dn

D. =
E. dhvew

foheelTe Wa 3T O] &1

l. A, BN CHH
. B,DANEAH
3. A DUH

4, DM ETH

I~

Options:

878270121661. 1
878270121662. 2
878270121663. 3

878270121664. 4

Question Number : 107 Question Id : 87827030897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT HEA Tl ol 1T ST 7

A. Tt

B. A

C. oo
D. IYEHTgH
E. oy

faereuare W&l s BT T

1. A, B3CHA
2. B,CHE DA
3. C,DAMEAR
4. A, CHAND IS

Options :

878270121665. 1

878270121666. 2

878270121667. 3

878270121668. 4

Question Number : 107 Question Id : 87827030897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT HEA Tl ol 1T ST 7

A. Tt

B. A

C. oo
D. IYEHTgH
E. oy

faereuare W&l s BT T

1. A, B3CHA
2. B,CHE DA
3. C,DAMEAR
4. A, CHAND IS

Options :

878270121665. 1

878270121666. 2

878270121667. 3

878270121668. 4

Question Number : 108 Question Id : 87827030898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YTl =TT “qTEea” TraHT ToTehT o ol 97 ol B1)
3 3 3 ™

A. 1 T TG T HIGHT ST TeA = &l

B. I =IcA=prh Q¥ AT aTeet T &)

C. T8 =TAPHT TG Saebrerah! AT v T sTg Fewd e )
D. ZHHT 5T IT T IR aiebTere! WgTi foueh ]

SREREIRE | B CORE LG RN ERIF R (AR ACRILE S|

TorehT faehedae el T O] &Y

l. A, BaHCHA
2. B,CANDAR
3. C,DAMEAA
4, A CHNEAA

Options:

878270121669. 1
878270121670. 2
878270121671.3
878270121672. 4

Question Number : 108 Question Id : 87827030898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YTl =TT “qTEea” TraHT ToTehT o ol 97 ol B1)
3 3 3 ™

A. 1 T TG T HIGHT ST TeA = &l

B. I =IcA=prh Q¥ AT aTeet T &)

C. T8 =TAPHT TG Saebrerah! AT v T sTg Fewd e )
D. ZHHT 5T IT T IR aiebTere! WgTi foueh ]

SREREIRE | B CORE LG RN ERIF R (AR ACRILE S|

TorehT faehedae el T O] &Y

l. A, BaHCHA
2. B,CANDAR
3. C,DAMEAA
4, A CHNEAA

Options:

878270121669. 1
878270121670. 2
878270121671.3
878270121672. 4

Question Number : 109 Question Id : 87827030899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST ST & HTUTeRT FraHAT WG TeTehT S T HTHTeR] Joct@ T B

A. Torrh
B. T
C. &
D. STt
E. a1oys

T TohedaTe Tal I B T

. A, B CHE

2. BAMCHT

3. B,CHMEAH

4. C,D & EAH
Options:
878270121673. 1
878270121674. 2
878270121675. 3
878270121676. 4

Question Number : 109 Question Id : 87827030899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST ST & HTUTeRT FraHAT WG TeTehT S T HTHTeR] Joct@ T B

A. Torrh
B. T
C. &
D. STt
E. a1oys

T TohedaTe Tal I B T

. A, B CHE

2. BAMCHT

3. B,CHMEAH

4. C,D & EAH
Options:
878270121673. 1
878270121674. 2
878270121675. 3
878270121676. 4

Question Number : 110 Question Id : 87827030900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



UEhST STHT TITET HGSTehehT for2I TUIEE o o §17

A. TR T srrarefiers weanT T

B. T=FTeHe: TicdTE

C. TremeTerT Teieh SHaT S0l SHae T T Herar
D. TaFmesyd UH=s T el wTaeT

qoteh! forehedeTe Het 3T BT T

1. A, BafAiDam
2. B,C AANEAA
3. B,DAMEAR
4. C,DANMEHH
Options :
878270121677. 1
878270121678. 2
878270121679. 3

878270121680. 4

Question Number : 110 Question Id : 87827030900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



UEhST STHT TITET HGSTehehT for2I TUIEE o o §17

A. TR T srrarefiers weanT T

B. T=FTeHe: TicdTE

C. TremeTerT Teieh SHaT S0l SHae T T Herar
D. TaFmesyd UH=s T el wTaeT

qoteh! forehedeTe Het 3T BT T

1. A, BafAiDam
2. B,C AANEAA
3. B,DAMEAR
4. C,DANMEHH
Options :
878270121677. 1
878270121678. 2
878270121679. 3

878270121680. 4

Question Number : 111 Question Id : 87827030901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT ST T Arelelt TerehT il il hoT HE T B

A. =T foreemer T Rt T afeer aramie Fia T Tws 1 5
B. “dffmferaT uism ~ureft wiiferes T TUMeHTIcTek A1ened o

C. T T TechoTeas T AT Taredtd Jamd s 7]

D. ST ST AT T STt 7 me o)

E. i T sttt g TgMuaR AR - A T a5

e foreheqaTe el 3 T T

1. A, B CHR
2. B,CAMDUR
3. C,DATEAA
4. B,C &M EAH

Options:

878270121681. 1
878270121682. 2
878270121683. 3
878270121684. 4

Question Number : 111 Question Id : 87827030901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT ST T Arelelt TerehT il il hoT HE T B

A. =T foreemer T Rt T afeer aramie Fia T Tws 1 5
B. “dffmferaT uism ~ureft wiiferes T TUMeHTIcTek A1ened o

C. T T TechoTeas T AT Taredtd Jamd s 7]

D. ST ST AT T STt 7 me o)

E. i T sttt g TgMuaR AR - A T a5

e foreheqaTe el 3 T T

1. A, B CHR
2. B,CAMDUR
3. C,DATEAA
4. B,C &M EAH

Options:

878270121681. 1
878270121682. 2
878270121683. 3
878270121684. 4

Question Number : 112 Question Id : 87827030902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WG T e TP <Taueh! el S, 1 G, T oSG ete 4 4
Ty

A, ST 1 ST ST e |

B. 7 EqaTe S771ea s TaTuel T £ ot 7 T v 21

C. TR -4 T O

D. Y STGITTER ‘GeqadT -1 TS oW FIaroaicuer ATy
E. ‘Seqedr o1 qudel T foviie o

eTeh foehedlie We] I BIe] &

|, B,CHANEM
2. A, CHRAD AR
3. A DANETH
4. A CHHETH
Options:
878270121685. 1
878270121686. 2
878270121687. 3

878270121688. 4

Question Number : 112 Question Id : 87827030902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WG T e TP <Taueh! el S, 1 G, T oSG ete 4 4
Ty

A, ST 1 ST ST e |

B. 7 EqaTe S771ea s TaTuel T £ ot 7 T v 21

C. TR -4 T O

D. Y STGITTER ‘GeqadT -1 TS oW FIaroaicuer ATy
E. ‘Seqedr o1 qudel T foviie o

eTeh foehedlie We] I BIe] &

|, B,CHANEM
2. A, CHRAD AR
3. A DANETH
4. A CHHETH
Options:
878270121685. 1
878270121686. 2
878270121687. 3

878270121688. 4

Question Number : 113 Question Id : 87827030903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR T TR T P 1< 10T TR SerT e ] el 37l TTeah
TGHT Q11 3, R eien T IeT GToAT (e Tt et e | ~Jqq ST=odee] ST
T 9 3 9 e B TSR

A. R 0! TV ST B

B. ST=UE T, ¥ged T O

C. SR0a S A ST SFTee e T3 T B
D. T SFT0% QTATee’ STIATe fefge i

E. SO0 ST ST FeeTaTath g e B

l. A/B TEAH

2. A CTETm

3. BIETA

4, A,CTDHR
Options:

878270121689. 1
878270121690. 2
878270121691. 3
878270121692. 4

Question Number : 113 Question Id : 87827030903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR T TR T P 1< 10T TR SerT e ] el 37l TTeah
TGHT Q11 3, R eien T IeT GToAT (e Tt et e | ~Jqq ST=odee] ST
T 9 3 9 e B TSR

A. R 0! TV ST B

B. ST=UE T, ¥ged T O

C. SR0a S A ST SFTee e T3 T B
D. T SFT0% QTATee’ STIATe fefge i

E. SO0 ST ST FeeTaTath g e B

l. A/B TEAH

2. A CTETm

3. BIETA

4, A,CTDHR
Options:

878270121689. 1
878270121690. 2
878270121691. 3
878270121692. 4

Question Number : 114 Question Id : 87827030904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR SPtet FEferta o 3 ¥ T 5

A, TS T FRTEITT T8 QA TTHEFOT SIHTER el SehT AT st
ST ST T |

B. T¥eIehTC TR SRTCTS AT T Saehrer Weal et ¥ SeehT Qe TahT T
T I ED |

C. T TG ST 3 TUTeh! ST T S thoTeh SAT=Teh! HITHT ST
|

D. T I TTeHurarH Biel o’ FaTaH ITTaT THehmT JHTeTe HUgh o |

T foehedae He I BITer-

1. B,D TEqH
2. A, BICHH
3. ACTETH
4. A, CTDHA
Options:
878270121693. 1
878270121694. 2
878270121695. 3
878270121696. 4

Question Number : 114 Question Id : 87827030904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR SPtet FEferta o 3 ¥ T 5

A, TS T FRTEITT T8 QA TTHEFOT SIHTER el SehT AT st
ST ST T |

B. T¥eIehTC TR SRTCTS AT T Saehrer Weal et ¥ SeehT Qe TahT T
T I ED |

C. T TG ST 3 TUTeh! ST T S thoTeh SAT=Teh! HITHT ST
|

D. T I TTeHurarH Biel o’ FaTaH ITTaT THehmT JHTeTe HUgh o |

T foehedae He I BITer-

1. B,D TEqH
2. A, BICHH
3. ACTETH
4. A, CTDHA
Options:
878270121693. 1
878270121694. 2
878270121695. 3
878270121696. 4

Question Number : 115 Question Id : 87827030905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT HUTIEEHNE 5 Sl ST [HUTdeRT SaeT &7

nomS

"o 0w p
PA WP

qoteh! forehedene Het 3T o1 Tl

1. A, B3 EAM
2. B,D 31 E#M
3. B,C3AMEAA
4. A, DAAETH
Options:
878270121697. 1
878270121698. 2
878270121699. 3
878270121700. 4

Question Number : 115 Question Id : 87827030905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT HUTIEEHNE 5 Sl ST [HUTdeRT SaeT &7

nomS

"o 0w p
PA WP

qoteh! forehedene Het 3T o1 Tl

1. A, B3 EAM
2. B,D 31 E#M
3. B,C3AMEAA
4. A, DAAETH
Options:
878270121697. 1
878270121698. 2
878270121699. 3
878270121700. 4

Question Number : 116 Question Id : 87827030906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e 1 o g forfes s ot e 11 e et fes ey

Tl T
A, FTTol! g L T o e
B. WA L. Aifegarerre gef
C. Tagted o M. difed &Y
D. ¥ 13 IV,  Sfderq & aeq g
TR A el forehed Bgerd-

1. A-1V, B-II[, C-I, D-1I
2. A-IL, B-I, C-1V, D-Ill
3. A-IL B-1V, C-II, D-I
4. A-III, B-1, C-1V, D-ll
Options:
878270121701. 1
878270121702. 2
878270121703. 3

878270121704. 4

Question Number : 116 Question Id : 87827030906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e 1 o g forfes s ot e 11 e et fes ey

Tl T
A, FTTol! g L T o e
B. WA L. Aifegarerre gef
C. Tagted o M. difed &Y
D. ¥ 13 IV,  Sfderq & aeq g
TR A el forehed Bgerd-

1. A-1V, B-II[, C-I, D-1I
2. A-IL, B-I, C-1V, D-Ill
3. A-IL B-1V, C-II, D-I
4. A-III, B-1, C-1V, D-ll
Options:
878270121701. 1
878270121702. 2
878270121703. 3

878270121704. 4

Question Number : 117 Question Id : 87827030907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 1T 1 are et frems e

T 1 el
A T=i [ IS 9 e
B. Tl [ T e
C. ey . =ermor e
D. TiegeT IV. i Same
T T W T BIegerd-

1. A-IV, B-III, C-II, D-I
2. A-IL, B-IL C-IV, D-I
3. A-1V, B-[, C-II, D-III
4. A-III, B-1V, C-1, D-II
Options:
878270121705. 1
878270121706. 2
878270121707. 3

878270121708. 4

Question Number : 117 Question Id : 87827030907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 1T 1 are et frems e

T 1 el
A T=i [ IS 9 e
B. Tl [ T e
C. ey . =ermor e
D. TiegeT IV. i Same
T T W T BIegerd-

1. A-IV, B-III, C-II, D-I
2. A-IL, B-IL C-IV, D-I
3. A-1V, B-[, C-II, D-III
4. A-III, B-1V, C-1, D-II
Options:
878270121705. 1
878270121706. 2
878270121707. 3

878270121708. 4

Question Number : 118 Question Id : 87827030908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl 1 g Fféra == e =l 11 are et fiem e

T 1 el
A, Fr e L it
B. STehTeT ey L WiE
C. =T T m. fae
D. 71eq Gl V. a9
T T W T BIegerd-

1. A-IV, B-III, C-I, D-II
2. A-IL B-I, C-IV, D-III
3. AL B-IV, C-I, D-III
4. A-III, B-I, C-IV, D-II
Options:
878270121709. 1
878270121710. 2
878270121711.3
878270121712. 4

Question Number : 118 Question Id : 87827030908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl 1 g Fféra == e =l 11 are et fiem e

T 1 el
A, Fr e L it
B. STehTeT ey L WiE
C. =T T m. fae
D. 71eq Gl V. a9
T T W T BIegerd-

1. A-IV, B-III, C-I, D-II
2. A-IL B-I, C-IV, D-III
3. AL B-IV, C-I, D-III
4. A-III, B-I, C-IV, D-II
Options:
878270121709. 1
878270121710. 2
878270121711.3
878270121712. 4

Question Number : 119 Question Id : 87827030909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 1T 11 ATef ey e 8-

T T
A T I L. yjforeRT, SRRt e
B. e gftery 11, ST S Sehefien] Qi
C. T FH 11 T e 7, WehT T
D. ST V. sryaee fowa qor o fowat faamm
FeAferiian fopeaene Tl 3 1] &

. AV, B-II, C-1, D-TI
2. AJIL, BV, C-IL, D1
3. AL B-L C-IV, DI
4. AT, B, C-IV, D-I

Options:

878270121713. 1
878270121714.2
878270121715.3

878270121716. 4

Question Number : 119 Question Id : 87827030909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 1T 11 ATef ey e 8-

T T
A T I L. yjforeRT, SRRt e
B. e gftery 11, ST S Sehefien] Qi
C. T FH 11 T e 7, WehT T
D. ST V. sryaee fowa qor o fowat faamm
FeAferiian fopeaene Tl 3 1] &

. AV, B-II, C-1, D-TI
2. AJIL, BV, C-IL, D1
3. AL B-L C-IV, DI
4. AT, B, C-IV, D-I

Options:

878270121713. 1
878270121714.2
878270121715.3

878270121716. 4

Question Number : 120 Question Id : 87827030910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TRt IUITHE® T foeht Ty fomT Ster frermsy &g —

T 1 Leinll
A WS I. ST Toehar
B. @&l I1. STfdcaare
C.  Afatet oo F=mEdr I11. SFTferefierar
D.  dHEwT IV. feeTiaehar
frferiaa faereuare @&t 3o o1 &

1. A-IL, B-I, C-IV, D-TI
2. A-IV, B-IIL, C-I, D-II
3. A-IIL, B-1V, C-1, D-TI
4. A-IL B-TV, C-II, D-I

Options:

878270121717.1
878270121718. 2
878270121719.3

878270121720. 4

Question Number : 120 Question Id : 87827030910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TRt IUITHE® T foeht Ty fomT Ster frermsy &g —

T 1 Leinll
A WS I. ST Toehar
B. @&l I1. STfdcaare
C.  Afatet oo F=mEdr I11. SFTferefierar
D.  dHEwT IV. feeTiaehar
frferiaa faereuare @&t 3o o1 &

1. A-IL, B-I, C-IV, D-TI
2. A-IV, B-IIL, C-I, D-II
3. A-IIL, B-1V, C-1, D-TI
4. A-IL B-TV, C-II, D-I

Options:

878270121717.1
878270121718. 2
878270121719.3

878270121720. 4

Question Number : 121 Question Id : 87827030911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eTeRT el WAtk o1 T forreh et fereverent forerm forme <frer fremms] &1

T 1 T 1
A. AT I. e T
B. 39X I1. 94 T
C. &d 1. %9 Tfrq
D. HieSar IV. g%k T
freferfaa foreregene wet 3w o1 |

. A-IIL, B-IL C-I, D-TIV
A-IL, B-IIL, C-1V, D-1
A-IL, B-TIL, C-1, D-IV
A-IV, B-III, C-I, D-TI

B ke T

Options:

878270121721.1
878270121722. 2
878270121723.3

878270121724. 4

Question Number : 121 Question Id : 87827030911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eTeRT el WAtk o1 T forreh et fereverent forerm forme <frer fremms] &1

T 1 T 1
A. AT I. e T
B. 39X I1. 94 T
C. &d 1. %9 Tfrq
D. HieSar IV. g%k T
freferfaa foreregene wet 3w o1 |

. A-IIL, B-IL C-I, D-TIV
A-IL, B-IIL, C-1V, D-1
A-IL, B-TIL, C-1, D-IV
A-IV, B-III, C-I, D-TI

B ke T

Options:

878270121721.1
878270121722. 2
878270121723.3

878270121724. 4

Question Number : 122 Question Id : 87827030912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T [ A1 TR TSR, Gt 1 AT FoUehT 35 3 I°9f TeFTehT €, e foeray] &)

T 1 T 1
A, Vet [, ThIEaTE
B. RV g IR
C.q@ [11. T
D. AU&T IV, fegrea @i

ToTehT fehealTe W 3T alrgéﬁl]

A(ID), B (IV), C (D), D (1I]

2. A(II), B (D), C (IV), D (1]
A (IV), B (IID), C (II), D (I)
4. A (I, B (IV), C (1), D

Options:

878270121725. 1
878270121726. 2
878270121727.3

878270121728. 4

Question Number : 122 Question Id : 87827030912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T [ A1 TR TSR, Gt 1 AT FoUehT 35 3 I°9f TeFTehT €, e foeray] &)

T 1 T 1
A, Vet [, ThIEaTE
B. RV g IR
C.q@ [11. T
D. AU&T IV, fegrea @i

ToTehT fehealTe W 3T alrgéﬁl]

A(ID), B (IV), C (D), D (1I]

2. A(II), B (D), C (IV), D (1]
A (IV), B (IID), C (II), D (I)
4. A (I, B (IV), C (1), D

Options:

878270121725. 1
878270121726. 2
878270121727.3

878270121728. 4

Question Number : 123 Question Id : 87827030913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et [ e forfu et 11 AT et o o ex et Sebeaertir T, e femmed &1

T 1 T
A, ATHES I, SR Tty
B. ¥l 11, ek fetfy
C. IIREEIREARIY
DREECI IV, sTaTeHes fey

T foereuee Tel 3 Bfen]

. A(ID), B (IV), C (), D (11D
2. A (I, B (IV), C (ID), D (1)
3, A(IV), B (III), C (1), D (I

4. A(IV), B (I), C(II), D (IIT)
Options:
878270121729. 1
878270121730. 2
878270121731.3

878270121732. 4

Question Number : 123 Question Id : 87827030913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et [ e forfu et 11 AT et o o ex et Sebeaertir T, e femmed &1

T 1 T
A, ATHES I, SR Tty
B. ¥l 11, ek fetfy
C. IIREEIREARIY
DREECI IV, sTaTeHes fey

T foereuee Tel 3 Bfen]

. A(ID), B (IV), C (), D (11D
2. A (I, B (IV), C (ID), D (1)
3, A(IV), B (III), C (1), D (I

4. A(IV), B (I), C(II), D (IIT)
Options:
878270121729. 1
878270121730. 2
878270121731.3

878270121732. 4

Question Number : 124 Question Id : 87827030914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el 17 fegue e aftaaenT STt 37 S 11 AT T forre Serenvreeahl et foered 2t

Tl Tl
A, SEITOYET [ T
B. WeTITUiTva [, FEHT
C. SEdE [11. WTTeB>TTaE
D. ST IV, Fea-Teq
EANCERUE A

[. A-IL B-IV, C-I, D-III
2. AL B-L, CIV, D-II
3. ALV, B-III, C-I, D-1I
4. A1, B-1V, C-I, D1
Options:
878270121733. 1
878270121734. 2
878270121735. 3

878270121736. 4

Question Number : 124 Question Id : 87827030914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el 17 fegue e aftaaenT STt 37 S 11 AT T forre Serenvreeahl et foered 2t

Tl Tl
A, SEITOYET [ T
B. WeTITUiTva [, FEHT
C. SEdE [11. WTTeB>TTaE
D. ST IV, Fea-Teq
EANCERUE A

[. A-IL B-IV, C-I, D-III
2. AL B-L, CIV, D-II
3. ALV, B-III, C-I, D-1I
4. A1, B-1V, C-I, D1
Options:
878270121733. 1
878270121734. 2
878270121735. 3

878270121736. 4

Question Number : 125 Question Id : 87827030915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=R 1 31t =i 11 R StreT frers g el

T =TI
A. THF 1. SELEHTE
B. AT I1. SreremTET
C. IEhRICTRTI: I11. TSR
D. Uik IV. g
frferiea fasredare el 3o BT el

1. A-III, B-1V, C-II, D-I
2. A-I B-1V, C-1, D-1II
3. A-II, B-I, C-1V, D-1I
4. A-1V, B-III, C-11, D-I

Options:

878270121737. 1

878270121738. 2

878270121739. 3

878270121740. 4

Question Number : 125 Question Id : 87827030915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=R 1 31t =i 11 R StreT frers g el

T =TI
A. THF 1. SELEHTE
B. AT I1. SreremTET
C. IEhRICTRTI: I11. TSR
D. Uik IV. g
frferiea fasredare el 3o BT el

1. A-III, B-1V, C-II, D-I
2. A-I B-1V, C-1, D-1II
3. A-II, B-I, C-1V, D-1I
4. A-1V, B-III, C-11, D-I

Options:

878270121737. 1

878270121738. 2

878270121739. 3

878270121740. 4

Question Number : 126 Question Id : 87827030916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRS TCThT STTHTCHT ST GHeRT [T Teehetdh! shH TS e

A. TR A
B. 3@

C. TS

D. WS
E. i

fferiad fosreuare wel 3T oTeN-

I, B, ;B A S
A,C,ED,B
3. B,CEAD
4. E,A,D,C, B

-2

Options:

878270121741.1
878270121742. 2
878270121743.3

878270121744. 4

Question Number : 126 Question Id : 87827030916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRS TCThT STTHTCHT ST GHeRT [T Teehetdh! shH TS e

A. TR A
B. 3@

C. TS

D. WS
E. i

fferiad fosreuare wel 3T oTeN-

I, B, ;B A S
A,C,ED,B
3. B,CEAD
4. E,A,D,C, B

-2

Options:

878270121741.1
878270121742. 2
878270121743.3

878270121744. 4

Question Number : 127 Question Id : 87827030917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eRTRTH HTCTahT SATITTHT FYIGTa UTARIehT THTCI=TeHe o ] o (HeTS e

A, fomm T =T
B. TR0 T eTge
C. et wfees fergrea
D. WTfeed T
E. TRt i T e Jqi
l: B.EB.CA
2. B,C,D,AE
3. C,A,EB,D
4. E,B,AD,C
Options:

878270121745. 1
878270121746. 2
878270121747.3

878270121748. 4

Question Number : 127 Question Id : 87827030917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eRTRTH HTCTahT SATITTHT FYIGTa UTARIehT THTCI=TeHe o ] o (HeTS e

A, fomm T =T
B. TR0 T eTge
C. et wfees fergrea
D. WTfeed T
E. TRt i T e Jqi
l: B.EB.CA
2. B,C,D,AE
3. C,A,EB,D
4. E,B,AD,C
Options:

878270121745. 1
878270121746. 2
878270121747.3

878270121748. 4

Question Number : 128 Question Id : 87827030918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AT AT S TTRTe ST 6T T e e TG e 7 o &)

A, TR ey

B. T %A

C. JTR 5T

D, THTaeRTY TS
E. T, wrea Tt

eTTE e foehed BIere-

l: B;D.EA €
2. ACBDE
. GADEB
. DB, C.AE

I

Options:

878270121749. 1
878270121750. 2
878270121751.3
878270121752. 4

Question Number : 128 Question Id : 87827030918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AT AT S TTRTe ST 6T T e e TG e 7 o &)

A, TR ey

B. T %A

C. JTR 5T

D, THTaeRTY TS
E. T, wrea Tt

eTTE e foehed BIere-

l: B;D.EA €
2. ACBDE
. GADEB
. DB, C.AE

I

Options:

878270121749. 1
878270121750. 2
878270121751.3
878270121752. 4

Question Number : 129 Question Id : 87827030919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, 77 fof
B. 37T ity
C. au fom

D. fom faafu
E. weg fafy

T foehedale W T BTeerd-

l. AD,B,CE
2. AD,EB,C
3. AD,BEC
4 AD,CBE

Options:

878270121753. 1
878270121754. 2
878270121755. 3

878270121756. 4

Question Number : 129 Question Id : 87827030919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A, 77 fof
B. 37T ity
C. au fom

D. fom faafu
E. weg fafy

T foehedale W T BTeerd-

l. AD,B,CE
2. AD,EB,C
3. AD,BEC
4 AD,CBE

Options:

878270121753. 1
878270121754. 2
878270121755. 3

878270121756. 4

Question Number : 130 Question Id : 87827030920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G o] et Ao srfirergasens sTtefe Tfo e ST Tele|

A. 3TV oI AT

B. T Heeieh e

C. qed e ae

D. S EHeeT! fRretera

I & CDB.E
2. B,A,D,C,E
3. A D,BE
4. D,EB,C A

Options:

878270121757.1
878270121758. 2
878270121759. 3
878270121760. 4

Question Number : 130 Question Id : 87827030920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G o] et Ao srfirergasens sTtefe Tfo e ST Tele|

A. 3TV oI AT

B. T Heeieh e

C. qed e ae

D. S EHeeT! fRretera

I & CDB.E
2. B,A,D,C,E
3. A D,BE
4. D,EB,C A

Options:

878270121757.1
878270121758. 2
878270121759. 3
878270121760. 4

Question Number : 131 Question Id : 87827030921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FHTcTshHeR SATITAT FrfeTRad Treesent 1A fiemsy a9
A. TagraeET
B. ‘fre’
C. ‘HETHIe
D. ‘e

G E i‘aﬂﬁwﬁildﬁ ST iﬁh‘:lﬁﬂ-
1.D,B,A,E,C
2.B,D,E A,C
3.C,A,D,B,E

4.D,B,C,E, A

Options:

878270121761. 1
878270121762. 2
878270121763. 3
878270121764. 4

Question Number : 131 Question Id : 87827030921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FHTcTshHeR SATITAT FrfeTRad Treesent 1A fiemsy a9
A. TagraeET
B. ‘fre’
C. ‘HETHIe
D. ‘e

G E i‘aﬂﬁwﬁildﬁ ST iﬁh‘:lﬁﬂ-
1.D,B,A,E,C
2.B,D,E A,C
3.C,A,D,B,E

4.D,B,C,E, A

Options:

878270121761. 1
878270121762. 2
878270121763. 3
878270121764. 4

Question Number : 132 Question Id : 87827030922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT RET TasAER 5 5 sk T AT HTCHT ST @ofe]) T ST feueht

A, FH e a1
B. % aall ol
C. %l bl A
D. it A o
E. foram ot

T foeheele Tl It Bie] &1
.C,D,A B, E
2.D,A,B,C,E
3.B,D,E AL

4.E C D, AB
Options:
878270121765. 1
878270121766. 2
878270121767.3
878270121768. 4

Question Number : 132 Question Id : 87827030922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT RET TasAER 5 5 sk T AT HTCHT ST @ofe]) T ST feueht

A, FH e a1
B. % aall ol
C. %l bl A
D. it A o
E. foram ot

T foeheele Tl It Bie] &1
.C,D,A B, E
2.D,A,B,C,E
3.B,D,E AL

4.E C D, AB
Options:
878270121765. 1
878270121766. 2
878270121767.3
878270121768. 4

Question Number : 133 Question Id : 87827030923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. Toerrae Fgtena < e
B. {[aI AW Sy’

C. THERTETEH! TS T 3

D. fortiasraa ferdrereh ‘Fsare gartr
E. WG FHIFTCATEH QI a1

TTehT fehedale Hel 3T BT &1

1. EEB,D.ACE
2. CEDBA
3. D,E,C,A B
4. E,C,B,A D

Options:

878270121769. 1
878270121770. 2
878270121771.3
878270121772. 4

Question Number : 133 Question Id : 87827030923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. Toerrae Fgtena < e
B. {[aI AW Sy’

C. THERTETEH! TS T 3

D. fortiasraa ferdrereh ‘Fsare gartr
E. WG FHIFTCATEH QI a1

TTehT fehedale Hel 3T BT &1

1. EEB,D.ACE
2. CEDBA
3. D,E,C,A B
4. E,C,B,A D

Options:

878270121769. 1
878270121770. 2
878270121771.3
878270121772. 4

Question Number : 134 Question Id : 87827030924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SRR U UeetT JehiTeTd HUHIATE 4 T qefeh] haTeech] 79 THeiTad 8]

A. TH2TIHIG FIFTATR! TTsde’

B. TS TS TSI HT0! AT
C. TG ATeHeRT AT

D. FUTHRV HEeh Tiad

E. g T8 S

TTehT fehedale Hel 3T BT &1

l. C,D,B,AE
2. D,C,A,B,E
3. D,B,C,AE
4, C,B,D,AE

Options:

878270121773. 1
878270121774. 2
878270121775.3

878270121776. 4

Question Number : 134 Question Id : 87827030924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SRR U UeetT JehiTeTd HUHIATE 4 T qefeh] haTeech] 79 THeiTad 8]

A. TH2TIHIG FIFTATR! TTsde’

B. TS TS TSI HT0! AT
C. TG ATeHeRT AT

D. FUTHRV HEeh Tiad

E. g T8 S

TTehT fehedale Hel 3T BT &1

l. C,D,B,AE
2. D,C,A,B,E
3. D,B,C,AE
4, C,B,D,AE

Options:

878270121773. 1
878270121774. 2
878270121775.3

878270121776. 4

Question Number : 135 Question Id : 87827030925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR JEIehEehl TSI SHIcThe dioetTene g% T = 84|

A. FHTSIA FeagaTen! uTel S Arfec

B. EehT STRITeh! ‘I@T ZahTeh! hIeT

C. STEIfashH STTERRIHT AT Greehe T

D. ©HTIS ATATeHT UGk GHAT

E. TIHET SRt “HuTeft STiehid : Ueh STeqg

qoteh! forehedene Het 3T o1 Tl

1. B,C A.D,E
2. C,B,E,A,D
3. B.E,C DA
4. C,E,B,A,D

Options:

878270121777.1
878270121778. 2
878270121779.3

878270121780. 4

Question Number : 135 Question Id : 87827030925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR JEIehEehl TSI SHIcThe dioetTene g% T = 84|

A. FHTSIA FeagaTen! uTel S Arfec

B. EehT STRITeh! ‘I@T ZahTeh! hIeT

C. STEIfashH STTERRIHT AT Greehe T

D. ©HTIS ATATeHT UGk GHAT

E. TIHET SRt “HuTeft STiehid : Ueh STeqg

qoteh! forehedene Het 3T o1 Tl

1. B,C A.D,E
2. C,B,E,A,D
3. B.E,C DA
4. C,E,B,A,D

Options:

878270121777.1
878270121778. 2
878270121779.3

878270121780. 4

Question Number : 136 Question Id : 87827030926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 25T A TG 57 - T3 STTVR A 81 ¥H oFe el 41 R A1
M A — A 37T AT g fot amaet fommmoarr, e T oATealeras 19 Aarara 21

th R — AEaTa) AT e AT & e HEyT WATH & T STE[Fe: e T 73]

- YT TR ST AT e eTereale el ee SU3h I O] B
- ATRE T, A F T AT@R A

- ATRE TR 5, A F1 T =41 R &%)

3. ATITWR I

4, ARISTTR D]

Options:

—

(B ]

878270121781. 1
878270121782. 2
878270121783. 3
878270121784. 4

Question Number : 136 Question Id : 87827030926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T G5eeT A TG 57 - U3 SHTVRR A &1 ¥ oFe el 41 R A1
ATV A — AT SFUaT AT TG fo 378w, Foremoe, g am ATt h T ATGaTe 2l

th R — AT AT e AT & Sae HET WATH € T STE[He: e T 73]

- TR TR ST T e eTereale e SU3h I O] B
. ATR S TRIT, A F F @R

- ATRE TG, A 31 T =T R &)

3, ATITWRIE

4, ARISTTR WD

—

[ ]



Options :

878270121781. 1
878270121782. 2
878270121783. 3

878270121784. 4

Question Number : 137 Question Id : 87827030927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 52T I 03T AERETT A T 7 Zfeh R T B
ATV A TR ST TG 31T, T, T, S ¥ g e ey
T T FHTeTeTe: T 5
Tt R T AT T1e T e ST AT I STt SThedeh SR 7 AT FIeeheeee
A e T, TRl am el St 9]
T M A T R 7 ST AT faeheaere 9 3 oT{ere-

. ATR WO A R A 3 T e T
2. ATR G A R A F e 0 T B
3. ATHOTR T
4, ATEHBITR WD)

Options:

878270121785. 1
878270121786. 2
878270121787.3

878270121788. 4

Question Number : 137 Question Id : 87827030927 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 52T I 03T AERETT A T 97 Zfeh R TG B
ATV A T ST e 31T, T, T, Sl ¥ e s
T T FHTHTeAe: T 7670
Tth R: T S TIe T fene AT ATee1 ) et Selebedeh! T T4 AT TIeeeedT
A TR, TR a7 ST e o]
T AN AT I R 1 AT SFATerian faeheqare 98 T BIee-

. ATREHE G A R el A 1 9 =A@ T o]
2. ATR G A R e A 1 e <0 T 6
3. AREBAR Y Bl
4, ATESTTR W B

Options :

878270121785. 1
878270121786. 2
878270121787.3

878270121788. 4

Question Number : 138 Question Id : 87827030928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T G4 e T B9 131 SATWeherd A 71 ¥ 91 7t 2t R &
AT A — TRICTI=HT ¥e01 HEATGeh HH 2154, AEATghd e Ui Se=n] q01 e,
7} 9 W TR AT
7t R — Ao SATATe! T ety S T o, FAhTer Gt 36! 06 o

- W] TR ST T (e eeae Wl 1eh 39H It B1e] &1
- ATRTI WY, A F1 T8 ATe0 R 2

2. ATRE TG, A %19 =T R T

3. ARG TR

4, ATHIATR W T

Options:

[e—

878270121789. 1
878270121790. 2
878270121791. 3

878270121792. 4

Question Number : 138 Question Id : 87827030928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T G4 e T B9 131 SATWeherd A 71 ¥ 91 7t 2t R &
AT A — TRICTI=HT ¥e01 HEATGeh HH 2154, AEATghd e Ui Se=n] q01 e,
7} 9 W TR AT
7t R — Ao SATATe! T ety S T o, FAhTer Gt 36! 06 o

- W] TR ST T (e eeae Wl 1eh 39H It B1e] &1
- ATRTI WY, A F1 T8 ATe0 R 2

2. ATRE TG, A %19 =T R T

3. ARG TR

4, ATHIATR W T

Options:

[e—

878270121789. 1
878270121790. 2
878270121791. 3

878270121792. 4

Question Number : 139 Question Id : 87827030929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e 392 o T B -

T | — T FRfT T et Safor T ST o Tt <t foremeR fafiret
I T e SR U3¢ HI=TMT GetehT ferrriess ¥ S &

F 11 - P ATTe] AR SToFHTIH SIS GHTTHTER TS HATEeah!
AT iR e o

T FYTEEH STTHEH] AT qHCTAE HE | I BT B

1. e 1 371 o 11 34 9 )

2. e [ 9 Fer 113 Tefd 5
3. %99 [ W1 © T 9 117767 B
4. %97 | ToId B T HA [ TR B

Options:

878270121793. 1

878270121794. 2

878270121795. 3

878270121796. 4

Question Number : 139 Question Id : 87827030929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e 392 o T B -

T | — T FRfT T et Safor T ST o Tt <t foremeR fafiret
I T e SR U3¢ HI=TMT GetehT ferrriess ¥ S &

F 11 - P ATTe] AR SToFHTIH SIS GHTTHTER TS HATEeah!
AT iR e o

T FYTEEH STTHEH] AT qHCTAE HE | I BT B

1. e 1 371 o 11 34 9 )

2. e [ 9 Fer 113 Tefd 5
3. %99 [ W1 © T 9 117767 B
4. %97 | ToId B T HA [ TR B

Options:

878270121793. 1

878270121794. 2

878270121795. 3

878270121796. 4

Question Number : 140 Question Id : 87827030930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T fage e g -

T [ — TTCHHT ST-eFTeRT ST 3Tieqw STETCHT [377] €Ak WYl W, I et
ST A

T [1 - UTCHHT T ST TS T [T T Suleh STgeo|

ol fohedale Tel 3ot BT

| %9 1 3717 e 11 34 e o
2. % [ 311 e 11 9 Tefe
3, %99 | W1 © T e 11 77erd B

4. %97 | TG T T HA ([ TR B
Options:
878270121797. 1
878270121798. 2
878270121799. 3
878270121800. 4

Question Number : 140 Question Id : 87827030930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T fage e g -

T [ — TTCHHT ST-eFTeRT ST 3Tieqw STETCHT [377] €Ak WYl W, I et
ST A

T [1 - UTCHHT T ST TS T [T T Suleh STgeo|

ol fohedale Tel 3ot BT

| %9 1 3717 e 11 34 e o
2. % [ 311 e 11 9 Tefe
3, %99 | W1 © T e 11 77erd B

4. %97 | TG T T HA ([ TR B
Options:
878270121797. 1
878270121798. 2
878270121799. 3

878270121800. 4

Sub-Section Number : 2
Sub-Section Id : 8782701321
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827030931 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



CTeh! TS YaT faguehT eweh! Wl 3t M=ied 7T 819-
T TT3-ETHT, AT SIETT

I A Wt 8

TET Y T T & IO

Tl & AT TS T I TS T01°

Sub questions

Question Number : 141 Question Id : 87827030932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1. Toudft =i
B Fs T
3. U fad UgIE RS
4. AW
Options :
878270121801. 1
878270121802. 2
878270121803. 3

878270121804. 4

Question Number : 142 Question Id : 87827030933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e TR T AT 7 T ST BRI o T e Tt T 5
1. S

2. M
3. e
4, Iadr

2
Options:

878270121805. 1
878270121806. 2
878270121807. 3

878270121808. 4

Question Number : 143 Question Id : 87827030934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1Y Sfeetitad TG T Teh TR U STodeh oFd aTgad fAmTaiet F) G 597

1. ST U ATqed STH T

2. uiafdd weTsre fwior T

3, T el T3]

4, WY STl TR =1 T

Options :

8782701218009. 1
878270121810. 2
878270121811. 3

878270121812. 4

Question Number : 144 Question Id : 87827030935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
TET AT TS T8 -1 SR [T D7

| O HTA FATSIR! T 8]
2. A aar A gy
3. SATCHETT &Y
4. FHTfeden] SHET T
Options :
878270121813. 1
878270121814. 2
878270121815.3

878270121816. 4

Question Number : 145 Question Id : 87827030936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TS -EAT, AT IEHD - o 379 dickenl B

. &%
2. Sifad

3. 9HS
4. FHTSHATE!

Options :

878270121817. 1
878270121818. 2
878270121819.3

878270121820. 4

Question Id : 87827030931 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
T T3-S, T ITEHT
pERER DI R T]
TET WY TE T g IO
TET TG, SIS U6 T8I I 13 U0’

Sub questions

Question Number : 141 Question Id : 87827030932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

iRt Tgh TaTeTSTS PSR! S ShfardTee 3G MU &1

1. far=m

2. <R

3. U a7 uaHIeE T8
4. AR

Options :

878270121801. 1
878270121802. 2
878270121803. 3

878270121804. 4

Question Number : 142 Question Id : 87827030933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

T TR T AT T T ST BRI o T e Tt e 5

|, iRt
2. M
3. YeAr

4. Iadr

3
Options :

878270121805. 1
878270121806. 2
878270121807. 3

878270121808. 4

Question Number : 143 Question Id : 87827030934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ATy Sfectfiaa TgThaT T THTHT Sodeh! 78 aTged FuTetet Hr Gemee o)

. S ot e T
). e

[ [}
- shlledenld] Hedld s34

3
4, AT 1) TSGR =1 T
Options :
878270121809. 1
878270121810. 2
878270121811.3

878270121812. 4

Question Number : 144 Question Id : 87827030935 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y

FET AT TS T8 -1 SR [T B?

L. ST WA GHTSIeR TRE T8
2. Rariga oA gl

3. oATHaY g

4. HTT~crehT SEIHUT T

Options :

878270121813. 1
878270121814. 2
878270121815. 3
878270121816. 4

Question Number : 145 Question Id : 87827030936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TITS-EITT, AT SEWT - o 379 alekeh! D7

. T
2. SiEd

3. OHS
4. HISHTS

Options:

878270121817. 1
878270121818. 2
878270121819. 3
878270121820. 4

Sub-Section Number : 3

Sub-Section Id : 8782701322



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827030937 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

I3 VT T HUEHT TR T T

ST o 7, T A 5 MU | et 7 helrh! WaTs 910 T @THTG lehe 1

TR ST FUTE et T Q9 BT AT Aereet T o 9| - ool e
ﬁ'ﬁﬁ@'{'ﬂ'@mw Burma Evacuee Relief Committee‘]%'—[ﬂ@ﬁlﬁlﬂﬁ Relief Commuttee
TP R T AT ferer 7, SoTeree € G ST W 1
Fopm el ST g Toreer gt Hot 4, T et A1 ekl 0 T B0 T4 SRV T 1

Sub questions

Question Number : 146 Question Id : 87827030938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IUh TTEITSTHT S THATTTohT ST TR B2

. $H 1939
2. 391941
3. 391943
4. 391945
Options :
878270121821. 1
878270121822. 2



878270121823. 3

878270121824. 4

Question Number : 147 Question Id : 87827030939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2. THNE STEaeTeRl e aTfeT
4. Toagam TEe SewagTr

Options:

878270121825. 1
878270121826. 2
878270121827.3

878270121828. 4

Question Number : 148 Question Id : 87827030940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TTRITSTRT 1@k hotsTohl UGTS TUQEATUL FRIETE hohehl 1907

|. STHEe
2. dANTUHETE
3. FeAFATdE

4. UfHETe

Options:

878270121829. 1



878270121830. 2
878270121831. 3

878270121832. 4

Question Number : 149 Question Id : 87827030941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

I, % FrRieh! fmmram foor &

2. SHyeR! A & T IHrEEeHT FEh! e T
3. Ul TETAQTRT SATHT SAFer T Aefear T

4. USRI TS TS Gemel TE]

Options :

878270121833. 1
878270121834. 2
878270121835. 3

878270121836. 4

Question Number : 150 Question Id : 87827030942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IUTH TTETSTehRT SI@heh! STV el WUah! T2

|, Tafererment frmermT

2. TS TSR dehHT FRITeRaTT
3. wruTse! furEteTmT

4. 3T USSTRT ATTORHHAT

Options :



878270121837. 1
878270121838. 2
878270121839. 3

878270121840. 4

Question Id : 87827030937 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

QT o T, YT AT 5 U 9| e i T % 7T g hahat 47

TR ST FUTE TPt T 9 BT AT Araet T o 92| - STl Qe
ﬁﬁﬁwr@mw Burma Evacuee Relief Connnittee%'—[ﬂ@ﬁlﬁlﬁ Relief Commuttee
AT R T SO T et T, e 3.8 T oTat T U
Fopm et ST e Tereer el oot 4, T et 1 ekl S0 T B0 T4 ST e 1

Sub questions

Question Number : 146 Question Id : 87827030938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IUYH TTEITSTHT S THATTThT T T B2

. 391939
2. 391941
3. 391943
4. 31945

Options :



878270121821. 1
878270121822. 2
878270121823. 3

878270121824. 4

Question Number : 147 Question Id : 87827030939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2. THIHE STEacehl HeH ae
4. ToasAR T TrFagTr

Options :

878270121825. 1
878270121826. 2
878270121827.3

878270121828. 4

Question Number : 148 Question Id : 87827030940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TTRITSTeRT SIS heTsTehl UGTS [UGEATUT SHBIATS heheh 1907
1. @Ihlele
2. dNIUEETE

3. helhdldle

4. UirHaTe




Options :

878270121829. 1
878270121830. 2
878270121831.3
878270121832. 4

Question Number : 149 Question Id : 87827030941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. o Frieh! fwram foo & m

2. SHyeR! A AW T IreEeRT FEh! Hamor T
3. SHUh! FETAQTERT SATHT SATE T fear T

4. USRI =S T4 Geel TE]

Options :

878270121833. 1
878270121834. 2
878270121835. 3

878270121836. 4

Question Number : 150 Question Id : 87827030942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



IUTH TTEITITRT STEha! STH el WU 917

|. Taferraent femermT
2. SIS eh! T FRITeRATIHT
3. TTHTSH! [HaTe g
4. ITT YSSTRT ATUHHT
Options:
878270121837. 1
878270121838. 2
878270121839. 3

878270121840. 4



